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ABSTRACT

Native French speakers from France and Canada were asked to complete a ques-
tionnaire which examined the naturalness of the floating quantifier zout in the following
positions: A) to the left of the noun phrase it modifies; B) between the auxiliary verb and-

.the past participle; C) after the past participle but not in absolute final position; D) after the
past participle in absolute final position; and E) after the past participle but before the
preposition related to the indirect object. Tour was tested in these various positions when
related to the subject with both transitive and intransitive verbs, and to the direct and
indirect object. Comparisons were made between the naturalness judgments of the
subjects from France and those from both Eastern and Western Canada. Sociolinguistic

- factors such as age, education, region and gender were also examined.

This experiment was conducted to offer empirical evidence to either support or refute
claims made by Kayne for Standard French and Daoust-Blais and Lemieux-Niéger for the
" French in Quebec. According to Kayne, tout may occupy the same positions that an
adverb may occupy when it relates to the subject of the sentence. When rout relates to a
full object noun phrase, it may not be moved from its normal position which is to the left
of the noun phrase it modifies. For the French in Quebec, tour-may not follow the past

_ participle when related to the subject of the sentence uriless there is some sort of expan-
sion. When tout is related to the object, it may be placed between the auxiliary verb and
the past participle which is also possible when it is related to the subject. When it is
related to the indirect object, it may precede the preposition related to the indirect object
providing the verb is in a simple tens¢. _ :

It was found that Standard French speakers find rour after the past participle but not in
absolute final position fairly natural, while French Canadians do not. French Canadians
will allow fout to be placed between the auxiliary verb and the past participle when it
relates to the direct object, but not when it relates to the inidirect object. Tour may not
occupy all the positions that an adverb may potentially occupy. Itis not, for example,
natural in absolute final position after a compound tense verb. There are also other
factors which seem to effect the naturalness of the position of rout, such as the transitivity
of the verb. . ,
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: " L INTRODUCTION

| Linguists' description's of certain érammatical strucﬁxres ina particular iang\iage are,,
not always reflective of structures commonly used by lingmsncally naive native speakcm |
- of that language The experiment reported in the following pages investigates the natu-
ralness of.variou$ positions of the floa txﬁcr tout. The data- collcctcd were based
on naturalness Judgmems made by fauve Fren h sp_,caker& frgm France and Canada. The
.study was conducted to tcst empmcally claxms made by Kayne (1975) for Standard
Fn:nchl and Daoust-Blais and Lcrmcux-Nnéger (1979) for the anch in Quebec. These
lmgunsts as well as others such as Quicoli ( 1976) and Klein (1977), have proposed
various grammars (transformational, phrasc structure and a combination of the two) to .*
describe the floating characteristic of rou in num;rous types of sgnt-actic structures. This
study then compareé its results to the hypotheses proposed fo; Standard French and the
French in Quebec. It also offers cmpiricél evidence as to those areas where Standard
French and Canadian French differ, and the similarities between the Fncnch‘s'ﬁokcn in
Eastern and Western Cénadh. 'I'hc major portion of the experiment tests the position of
rout in relaﬁonshxp to verbs in the passé com;kosé The experiment examines the right-
ward movemcnt of tous (R-Tous) when rel to a full, plural subject noun phrase (NP)
w1!.h both intransitive and transitive verbs, and the leftward movement of rour (L-Tous)
‘when related to a full object NP (both direct anmect; singular and plural object NPs

-

1Standard French refers io the French spoken in Prance, and is not necessarily an indication of what is
‘ grammaucally correct according to grammarians or the French Academy.

4
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were tested). There were some examples in which simple tense verbs were used, and

!

8 " " .« ° . ‘ V., ‘ ‘a%‘ " 2

L3

cases wherc tout was moved from a main clause intoa relatlve clause and vice versa. 2

For Standard French (SF), Kayne statés the followmg

-

.. . . . D
. the quannﬁer fous (feminine: toutes) may occyr as the leftmost element of a
O plural noun phrase (NP) as in tous les garcons, toutes ces femmes, tous mes
vieux livres. In addition, when associated with a subject NP, tous may appear
not only as part of that NP but altemauvely in one of a number of other positions

in the sentence. , o , . —

- | (1) a. Les gargons sont tous parus ! la guerrc
’ -b. Les gargons sont partis tous 2 la guerre.
a-b. "I'he boys have all gone to war.' |

~ The surface posmons companble with quantifiers moved from the SUbJCCt are -
’ precxsely those compatible with adverbs of vanous kinds. 3

As for rous related to an object NP, Kayne states, "...the posmonmg of tous away B

| ‘ from object positior is not possible if the object is a; {uu NP:

| (2) *Elle a to_us Tu ces hvres."Q__, g |

Klein (1977) adds, "Thefe are van‘au‘ons in the degree of acceptability nowever AN
.- based on surface nonéns of "heavmess of the quanuﬁer (or adverby mvolved " Itis
precxscly this "dcgree of acceptablllty" or in this case "ndturalness” that i is being tested in

this expenment.‘

N
. . . \
’ 2There were only a few examples where relative clauses and g‘unple tense verbs were used. Thus, i in these
~ cases the results are not conclusive, but somie general tendencies emerged. :
3Kayne does not offer any examples of tous in absolute final posmon after a compound tense verb, as in
Les gargons sont partis tous. He does offer an example of fous in absolute final position after a simple
tense verd, Les gargons partiront tous. Since his statement is so general that is tous could occupy any .
- ‘position that any adverb could occupy, it is assumed here that rous in absolute final position after a com-
: pound‘ tense verb is possxble since it would be possible for centain adverbs, as in Les gargons sont partis
vile.
4Agmn Kayne does not offer any examples wuh indirect object NPs, but it is assumed here Lha( this
general rule applies to any full object NP whether a direct or an indirect object.

<
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| : " 3
- As fq'r the French in Quebec, or more specifically in this experiment Canadian French
(CF) since groups were tested from both Eastern and Western Canada, Daoust-Blais and
Lemielix-Niéger make the following claims:
. , '

. tUY5 1€ 2 un SN sujet singulier ou pluriel peut étre placé 2 gauche dé ce SN,
/' droite du verbe simple et 2 droite de l'auxiliaire dans les verbes composés.

/ (3) tUV mes amis viendront. ' /
. (4) Mes amis viendront /tBv. /,'
(5) Mes amis sont /tUt/ venus. ' _ 4

Avec l_c verbe composé, la position finale semble exclue, sauf s'il y gi expa/xzéjon.
(6) *Mes amis sont venus /tUt/. ' !
_(7) Mes amis $ont venus /tUt/ hier. 7
. - , / 7
For the quantifier related to the subject NP, the rules presented by I/(/aync for SF and -
those presented by Daoust-Blais and Lemieux-Niéger for Cif seem a/sically the same, |
except thgt there is z;spcgiﬁc statemént for CF as to what is not ‘ssiBle, that is, the
~ quantifier in absolute final posi_tidn afte’r a compound tense vc/ , which Kayne simply
. igﬁores. The main differences between SF and CF, how%vgf, appear when the qﬁanﬁﬁéf
‘ isrelated to a fpll object NP. For CF, Daoust-Blais and &é/rnicqx-Niégef make the

following claim:

En position objet le frangais du Québec, comme le frangais standard, fait une
distinction entre le verbe simple et le verbe composé. Avec le verbe simple, 1tuy
se place obligatoirement devant le SN. . ‘

| (8) Les enfants mangent tous les giteaux.

Avec un verbe composé, /tUt se placc soit devant le SN, soit A droite de
l'auxiliaire, c'est-2-dire au méme endroit que /tUV/ lié au sujet.

(9) Les enfants ont /tUt/ mangé le giteau. o

AJ

S5Daoust-Blais and Lemieux-Niéger use /tUV to represent all forms of the quantifier tous since for the
French in Quebec this pronunciation is always possible regardless of the number or gender of the word.
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Those rules apply td the direct object, while for the indirect object they state: -

s'agisse de phrases contenant un verbe simple ou un verbe composé. /tUv peut
se placer, soit devant le SN, soit 2 droite du verbe simple ou 2 droite de
l'auxiliaire dans les phrases A verbes composés.

'Le comportement de /tUV lié A un SN objet indirect plem est le méme, qu'il ‘ (
(10) Je pense a tUY mon affaire.

(11) Je pense /tU/ & mon affaire. ‘
(12) Jai parlé 2 tUY mes voisins.

- ~(13) J'ai tUY parl€ a mes voi#ins.«'f, :: :

.

The dxsplaccment of the quantifier from objj' : posmon m relatlve clauses was also _
touchcd upon briefly in thxs cxpcnmcnt. Although thxs was not °part of the major pomon

of thc study, it does offer an area for further mv suganon The followmg typc of con- _

o

structxon is thcn possxble

(14) Les gargons qu'elle a tous ¢§ﬁﬁus sontmorts |

. | (15) Les gargons-qu'élle a connus sont tous morts.
‘ : & “ N

This displacemcm' is only pos>'ble where the.quantifier remains in a clause where there

- is areferent to Whlch the quantifier is related. In (14), this would be the relatwe pronoun

while in (15) it would be the full subject NP. 'I'hus a sentence.&‘e (16) would not b}\ /,
. N ~

N

possxble
(16) *C'est tous clle 'cjui a tué les lizvres.6 ®
~ The 'g_rammaticaljty' or the function of rout in a particular position is not being tested
in this cxpcrimeht. It is as#umcd that the 'funétion' of the quantiﬁer is the same in ¢ach
token, that i is, it is related to a full NP whether i in subject or Ob_]CCt position. Gram-
marians themsclv&s seem to dxsagree as to the "corrcct" label or grammauoal nomenclature™"

to use when describing the quantxﬁer, not only when moved from ifs normal position

6( 16) was used in the quesuonnalre It was taken from the fi Im, Pris au collet, National Film Board of
Canada, 1974. The main character spoke this line. It-was tested to see what the subjects’ reactions would
be to such a sentence. )
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(which is to the left of the NP it modifies), but also in normal position. For example, in

normal position, accor.ding to Andcrsspn (1954, 108-09), Beyer views tour, “"pas comme
apposition, mais un adjectif brédicatif', while Tobler sees it as, "uneapposition ou un
complémcnt adverbial", where others like Morf and Meyer-Liibke believe that rous started
as’ an adverb, but due to a grammatical attraction began to agrec invhu‘mbcr and gender |
with the NP to which it was related, and thus was classified by some as an édjcctivé.7
'In Chcvalier (1964), it is callhedl, "un détcnm'nqteur complémcntif', while Grcvissc' (196;1)
';imply cz;lls itan adjccﬁv‘c. When the quantifier is movedffrorﬁ its normai position,'
Grevisse calls it, "un adj'ec;if indéfini détaché”, while Hanse (1983) calls it, "un pronom
indéfini". Both admit that there is Strong disagree"ment among grammarians on this point.
Grammarians are also reluctant to offer examples of four out of its normal position, |
and seem even more vague about g;(acily where the quantifier may be placed when it is

——

moved. Andersson (1 12) states:

- .. en ancien frangais la place de rour était assez libre. Dans le frangais

classique et moderne, il se place par contre dans la grande majorité des cas,
immédiatement devant le groupe <<déterminatif + substantif>>, mais bien-des
fois lorsqu'il se rapporte au sujet de la-proposition, il se place surtout au pluriel, -
apres le verbe.

"Apres le v?rbe" is extremely vague and does not impiy that therc may be some / '
| restrictions. chvisse simply stét;:s, "il (tout) est parfois dét;;ché." This implies tha/y/i/t
could be placed anywhere. Some dcscﬁptions offer examples of rour placed bétWéén the
auxiliary verb and the past participle, as found in Andersson's, Les candidats oh; tous
répondu. 6r after a simple tense verb such .as, La yille' b}ulait toute. Andersson also

states that when fout is moved, it is as an apposition. It is occupying another position to
accentuate or em;ﬁhasize the notion of all or the whole. The n.o‘tion that it functions as an ¢

apposition is an important one. Anytime something is moved from its normal position, it

is usually to draw attention to that idea; to stress or emphasize a particular point. For the

7Beyer, Tobler, Morf and Meyer-Libke are quoted in Andersson (1954, 108-09).
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subjects themselvcs, this is probably the underlymg reasor as to why they ‘would place
: 4

\

the quantifier in a particular position.8
This study does not attempt to quahfy the function of tout in various posmons or to
determine what is "grammiatical” and what is not. It i is also not conterned thh formu-
lating a grammar that will adequately account for the various positions of four. We know
| that what is grammaucali; correct is not always a real:represcntanon of how language
users actually speak. This study then shows native speakers' reactions to the various
positions tested. It shows which poéitions are found to be natural and whi.ch ones are not
when rout is related to the subjcct w1th both mtransxtxve and transitive verbs; to the direct _ __
object and to the indirect object. Itisa study whxch coﬂ't@ms the posmons possxblc in
SF to those in CF. It also tests to see if thcrc are. aﬂyd:ffe;mces in judgments due to

wgrious sociolinguistic factors such as age, educatxbn,\gender or region.

81n fact, certain subjects commented that a particular structune was perfectly natural and gave it the
highest rating.because it functioned as "une forme d'insistance”.



Il DESCRIPTION OF THE EXPERIMENT F\

Three groups of subjects were'askpd to fill out a questionnaire concerning the natu-
ralness of thc,position of the quantifier fout. The first groub of subjects consisted of 104
native Fi'enéh speakers from various regions in France, including the Ile de France,

- Bordeaux, Brittany, Cha.rentes, Anjou, and the North (near Maubcpge) among others. :
There were 46 males, 46 females and 12 unknown. yAs gender was not a specific ques-
tion on the questionnaire, it was sometimes ixﬂpbssiblc‘to determin(; whether the subject
was male or female. They were r{ot obliged to give their name if they preferred to remain

anonymous. “The subjects ranged in age from 11 to 66 with'a fairly even distribution in

each of seven age divisions. They were divided as follows: v

1. 020 . .20subjects
2. 21-25 24 subjects

- 3..26-30 11 subjects -

-4. 31-35 18 subjects

5. 36-40 13 subjects
6. 41-49 9 subjects N
7. 50+ 15 subjects e

Education levels were divided into three categories:

-

1DBAC- = Those who did not have a baccalaureat. This included students still in
high school, workers and those who had a vocational licence, such as
secretaries and technicians. o

2)BAC = Those who had completed théir baccalaureat, which is often considered
to be the equivalent of two years of college in North America. '

3)BAC+ = Those with some university. This included people with and without
degrees. ‘ _

There were 38 subjects in category one, 16 in category two, and 50 in category three.
The second group of subjes:_t_svcamc from Eastern Canada. They were primarily from
Quebec, but there were algo a few from southern Ontario and the Maritin{cs—. Of the 78

sul;jects from Eastern Canada, 42 are cun'ént.ly living in Quebec, while the other 36 were
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ongmally from Eastern Canada, but are currently hvmg in Alberta.: There were 50 fe-
malesﬂmales and one unknown. They ranged in age ffom 14 t0 90. The same agc

 divisions were. madc for this group as listed above. The education levels for the two
Canadian groups were divided as follows:

L]

1) H.S.- = Those subjects with less thana. hxgh school cducatxon
2) HS. = Those subjects with only a high school diploma.
3) H.S.+ = Those subjects with some university, but no degree.
-4) B.A. = Those subjects with some kind of undérgraduate degree.
'5) B.A.+ = Those with some education bgyond their undergraduate degree.
They may or may not have dbtained a graduate degree.
"It was decided to divide the education levels diﬂ’ercntly for the French and Canadian
groups since the two educauonal systcms are not cquxvalem.
"The third group of subjects came from Western Canada with the majority coming from
~ Alberta. There were also a few from British Columbia and Saskatchewan. There were B
86 subjects m«;h)é group; 62 females, 22 males and t\’o unknown. They ranged in age
from 17 tO'&l'; ﬁ\esamc divisions for age and education were used for the Western
Canadian group as were used for the Eastern Canadian group. Singe it was found that
there were no significant differences between the two Canadian groups, when socio-

linguistic factors such as age, education and gender were tested, the two groups were

" tested as one homogeneous group .This resulted] in the followmg dxvxslons

EDUCATION  AGE

1. HS.- =18 1. 0-20=14 | -

2. HS. =29 2. 21-25 = 48 c

3. HS.+=62 3. 2630=26

4. BA =42 4. 31-35 =14 -

5. BA+=13 5. 36-40=15 e
6. 41-49 = 10 g
7.

50+ =37



As for the diétril?ution of the questignpai.r-é, 86 of the104 native French speakers
' from France received and retumed their questionnaires by mail, while 18 subjects were

currently living in Alberta and were asked personally to complete the questionnaire. The
mail was also used to acquire ‘thc responses of 42 of the 78 subjects from Eastern
Canada. Fer those living in Alberta, copies of the questionnaire were sent through‘r-n:x-
tual fiiends or deiiVered to various francophone businesses in the area. A brief explana-
tion was offered to at least one representative in each case, but essentially, the question-
naire was viewed to be self-explanatory. |

The questionnaire consisted of 60 tokens. The subjects were asked to judge each
token as to the naturalness of the position‘of the quantifier rout which was rcprcscn“tcd by
[T).9 Thenoun phrase to which the quantifier was related was underlined, so as to
avoid confgsion, particularly in those tokens conytaini,ng both a full subject and object
NP.10 This was clearly explained in the instructioﬁs (see Appendix A for the question- -

naire used). A naturalness scale ranging from one to five was used for making their

judgments.

I1n CF, tout is usually pronounced /tUV regardless of the spelling. In a pilot study done earlier, the
quantifier was spelled out, agreeing in number and gender with the NP to which it was related. Some
tokens were given a lower naturalness rating because the subjecis were somehow bothered by the spelling
of the quantifier, although it was grammatically correct. The symbol [T] was used in this experiment so -
that the subjects could interpret the form and the pronunciation of the quantifier according to their

personal dialect.

1OAlthough the quantifier occupied different positions in different tokens, the function of the quantifier
was always the same, that is, it was related to the NP that was upderlined and always kept the same
meaning. Despite the fact that the NP was underlined to avoid confusion so that the jects would
interpret [T] as having the same function in all tokens, some subjects were eliminated because it was
obvious that they had misinterpreted the function of [T). This may account for some naturalness
judgments that were higher than one might have expected.

e.g—Les enfants ont mangé [T).
This token may have been interpreted as The children ate everything. as opposed to the desired correct
interpretation The children all ate. [The first interpretation would lead the subject to judge this token as a
five, because it is a perfectly grammatical and logical sentence. However, the function of [T} would no
longer be related to the underlined NP. If they understood the sentence as having the second meaning,
then they should have ranked it as being unnatural. In cases where it was obvious that the subject had

[

misinterpreted the token, adjustments in scoring were made.



Th. judgment scale used was as follows:

5 = the most natural position, what one would normally say

4 = common, but not as natural as 5

3 = undecided, sometimes heard ‘

2 = not very natural, rarely used

I = the least natural position, never used

The subjects were also instructed not to analyse and compare tokens of the same type.
An average of 15,40 20 minutes was spent completing the questionnair'e’;
The tokens themselves were divided into four major syntactic categories. There were
! " ¥ g

8 to 16 tokens in each syntactic g@bﬁgmndent upon the number of positions possible
and 8 fillers. All tokens were six to nine words in length and for each syntactic group
there were four different tokens for each position. Within each syntactic group, the verbs
were all in the compound past tense (passé composé), whdreas, in most cases, simple
tense verb forms were used in the fillers. Within each syntactic group, a certain number
of positions for [T) were possible. The five positions possible were as follows:

A = [T] immediately, to the left of the noun phrase it modifies.

B = [T] between the auxiliary verb and the past participle.

C = [T] after the past participle but not in absolute final position.

D =1T] after the past participle in absolute final position.

E = [T] after the past participle but preceding the preposition related to the

" indirect object. : .

* The four syntactic groups were as follows:

SYNTACTIC GROUP1I - [T] related to the subject of the sentence with intransi-
tive verbs. Positions A, B, C and D were possible.

[T] les gargons sont partis 2 la guerre.

Pos A =

Pos B = Les garcons sont [T] partis 2 la guerre.
— Pos C =Les garcons'sont partis [T] a la guerre.

PosD =

Les garcons sont partis [T].

10



. SYNTACTIC GROUP I - [T] related to the sujbct with transitive verbs.
- Positions A, B, C,'4#8 D were possible.

Pos A =

Pos B = Les femmes ont [T] Iyces li
Pos C = i [THES.

i

SYNTACTIC GROUP I - [T] related to the direct obj
B were possible.

4 o
Fagh i

ect. Positions A and

Pos A =11 a acheté [T] ses meubles 2 cpédit.
Pos B --.Hammhggsmﬂhm&zég;t.

SYNTACTIC GROUP IV - [T] related o the indirect object. Positions A, B,
and E were possible. "

Pos A = J'ai songé A [T] mes amis. 1’\.

11

Pos B = J'ai [T] songé & mes amis. \ {

Pos E ‘= J'ai songé [T] 1 mes amis.

One-way manovas (multivariate analysis of variance) were used to test the significant
differences between the three subjcoc: groups for each synta;tic group and for the fillers.
All levels of significance are at the .01 level (unless otherwise stated), One-way manovas
were used as they are very conservative tests. They test the entire set of dependent vari- -
ables at once and are adjusted for correlations among the dependent variables, thus allb
tests were controlled with the probability of a Type 1 error equal to the level of signifi- ~
.l cance (Huck, 1974,178). "A Type I error refers to accepting the scientific hypothcsis
when in fact it is not correct.” (Christensen, 1980, 311). The native French speakers
from France were compared separately to each of the two Canadian groubs. Then the
two Canadian groups were CO!';'lpared to each other. Manovas were also used to look at -

various sociolinguistic factors, such as age, education, and gender for all subject groups,
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and region for the French. Slnce there were no significant dxfferenc\ﬁs found between the

two Canadian groups for each syntactic group, they were tested as a é@ngle group for the

socxohnguxstxc factors. The French were tested separately for each sociolinguistic factor
Repeated measures were used to give a proﬁlc of the means for each subject group,

for each syntacuc group for each position possible within that syntactic group. Positions

were also compared across and within subject groups and across syntactic groups.



III. RESULTS

B

A. SYNTACTIC GROUP I ) e
-

Lo

As stated in the introduction, according to Kayne, when a quantifier is related to tilc
subject of the séntcncc, it may occupy the same position as an adverb. That is not to Say
that the_ quantifier functions as an adverb. This is called Quantifier Posting or the Right-
ward Movcmcnt of the Quantifier (R-Tous). This implies ’that the quantifier rous in rela-

tionship to the subjcét of the sentence with the verb in a compound tense may occupy any

of the following four positions: .

[T] to the left of the subject NP ("normal" position).

[T] between the auxiliary verb and the past participle.

[T] after the past participle but not in absolute final position.
[T] after the past participle in absolute final position.

[

onw>»

Positions B, C, and D are all positions that an adverb may occupy, as shown below:

N

Les filles sont vite parties hier soir.
Les filles sont parties vire hier soir. (
__ Les filles sont parties vite. L
The difference between SF and the French in Quebec, according to Daoust-Blais and

Lemieux-Niéger, is that only positions A, B, and C are possible. Position D is not pos-
sible with compound verbs, but is possible with simplc tense verbs. i(aync does not
state this rule specifically, but then again, all examples of the quantifier in absolute final \
- position are with simple tense verbs. Therefore a clear distinction is not made between

theé positions possible in relationship to simple or compound verbs. However, Clédat

3

13



(1859) offers the following example, so that it will be assurned that Position D is pdssiblc 4
in SF. |

(17) Ils sont venus lbus: \\

In this experiment, both Syntactic Group,I and Syntactic Group I1 test the quantifier in
the four positions-listed above in relationship to the gubjcct. In Syntactic Group I, the
verbs were all intransitive and in Syntactic Group II, they were all transitive. Table 1
shows the’meané for each position, for‘each subject group for SyntactiC“Group I. Figure

.1 offers a profile of the means.

TABLE 1 . ‘
SYNTACTIC GROUP I
[T] related to the Subject with Intransitive Verbs

#  Subject Group - B ;€ D

104 French 4.92 4.63 292 1.72
78" Eastem Canada 4.78 4.43 1.91 1.27
86 ‘WesternCanada = 4.85 4.40 1.92 1.34

Pos A =[T] to the leftof the NP * Pos C = [T] after PP but not absolute final
Pos B = [T] between Auxand PP Pos D = [T] in absolute final position

1. POSITION A

From the means, we can see that Position A ("normal” bgsition) is viewed as the most
natural position by all three subject groups. All three means are near the 5 level. There is

nosignificant statistical difference between the three subject groups for this position.
o _ , .



MEANS OF NATURALNESS JUDGMENTS

{IT] RELATED TO THE SUBJECT QITH INTRBNSITIUE UERBS
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Although all thrcc groups regard Position A as bemg thc most natux@l it would seem:,
| from thc means that the French are shghtly more lmguxstxcally secure m making thexr
. judgments. It is possible that.thc French Canadians have been told so often that their

. Iﬁmhgh}(inferior to SF, that perhaps in this experiment they were a little more cautious

_‘|when making their ju‘dgmehtsq. Sor‘nc_vfclt"safer' answering with a 4 rather thana 5,
use there was more flexibility in that category than in 5, Thus, they were not

_commi ng themselvcs to saymg that a parucular token was absglm;lx correct’ or
n.tural P

o
.4

2. POSITION B

Position B is also judged to be highly natural, but not as natural as Position'A. For -

| this posmon the subjccts Judgments are closer to thm4 5 level than to 5. There wass
' srgmﬁcant dlffercnce (p<. 001) between Position A and Position B for all three subject
" groups, bit there were no significant dlfferenccs between the three groups Each group
ranked Posmon A as the most natural position, which was to be expeétcd. Position B is
also a highly natural position, but perhaps due to stylistic prcferences, is viewed to be
lcss natural than Position A. Asa rcsult, it can be sa1d that there are no dlfferences be-
‘tween SF and CF for these two ppsmons They arc trcated the same by all three Sllb]CCt
B groups ’
‘3. POSITIONC =
) =
The same cannot be said for PoSiﬁOn C. The native French speakers frurh France are
- qmtc divided as to the naturalncgs of Posmon G, that is, [T] after the past pamcxple but

~f_u:: DR

not in absolutc ﬁnal position, as in ( 1b): s s

16
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‘ (1b) Lys%argcfﬁs sont partis [T] a la guerre.

The scores here ranged,from 1to 5 with the mean near the 3 level. There were also
high standard deviations whneh are anothcr mdrcatxon of their mdecrsxvencss 'I’hxs
structure is obvnously used or heard sd;'#neUmes by some people, but not by everyone.
'Agam this may be due to stylistic preferences. Generally a speaker moves the quantifier
‘out of its normal position when h€ wishes to emphasxze or draw attention to a particular
'pomt. Therefore, the speaker would be placing the emphasrs on tt?,fact that gll of the
boys went to war, that is every single one of a spec1ﬁc group. The all is emphatically
stressed. This would be a structure that is not commonh used, but rather is used only in
certain sxtuatlons In fact, more attentxon may be drawn m #in this posmon than in
Position B, because it would appear to be less common!- ch Thus in speech, given
. the proper pauses and stress, this would be considered a perfectly natural structure. This
would then seem to lend some support to Kayn“e's argument that the quantiﬁer may
oecupy the same position as an adverb. In general longer adverbs and those that are lﬁ;
+ commonly -used follow the past participle in ﬁnpound verbs, whereas the shorter, more ﬂ
commonly used ones usually fall between the auxiliary verb and the past parucxple
(Grevisse, 1964). Most grammar books will admit, however, that there is a great deal of
flexibility involved when it comes to the rules oh the placement of adverbs.

The French Canadians seem to view this pesition quite differently from the French.
‘Both Canadian groups judged this position as 'approximately a 2, which indiczrtes that it“is‘
not very natural and is rarely used. The‘signiﬁeant difference between the French and the
" French Canadi_ans wohld seern E%;indicate that there is ; defuﬁtehisagreement between SF
and CF as to the naturalness of this position. This contradicts Daoust-Blais and ~
Lemi'eux-Niéger when thej/‘sfatc that [T] after the past partrciple is possible as long as
| there is some expansiczn._ Clearly CF speakers do not find this particulhr structure very

natural, and definitely do not find it as natural as the French do. These findings do not
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mdxcatc that this construction would never be used, but that it is very rare]y used, which

is-not what is xmplxcd by Daoust-Blms and Lemxeux-Méger

4. POSITION D

All three groups generally view Position D as being unnatural,_and there are no
significant statistical differences between the three groups. The French mean, however,
tend; to lean slightly more towards the 2 level rather than level 1 as for the Canadians.

This indicates that for the French this is not a very natural position, but may be heard or

: uséd"on rare occasions, as in Clédat's 6xample (11). Th; results for the Canadian groups -
support Daoust-Blais and Lernicux-Niége;'s claim that this sn'uctl;rc is not used in the
Frénch in Quebec, but as there are no signiﬁcapp differences between the judgments made
by SF and CF speakers for mis»positi'on,'thcir claim would seem to be applicable to SF as

well, and is not exclusiveto CF.

5. MOVEMENT ACROSS POSITIONS |

There are significant differences for each subject group for each position within
Syntactic Group 1. W1th each movement of the quantifier out of its normal position, there
isa sxgmﬁcant decrease in naturalness resulting in a position that spcake genera.lly find
as bcmg highly unnatural. Thus, Posmon Ais mgmﬁcantly more nanﬁ(al than B, B is

- more natural than C, and C i is more natural than D.

B. SYNTACTIC GROUP II

The results for Syntactic Group I1, [T] related to the subject with transitive verbs, are
similar to those of Syntactic Group I as seen in Table 2 and l‘xgure 2. There is a steady

decrease in naturalness as [T] is moved out of its normal-position. The further [T] move, *

e



TABLE 2
SYNTACTIC GROUP 11 ‘
‘[T] related to the Subject with Transitive Verbs -~ -

a

#  SubjectGroup A B ‘¢ D

104  French 494 __ 418 2.27 1.77
78  Eastern Canada 4.85 4.14 2.08 1.56
8 Westem Canada  4.90 3.94 2.13 154

Pos A = [T] to the 1ef£%f the NP Pos C = [T] after PP but not absolute final
Pos B = [T] between Auxand PP Pos D = [T] in absolute final position

from A, the leds natural it becomes. This is not surprising considering that Both syntzictic
groups test (T] rclatcd to the subject in the same four posmons with only the transmwty
of the verb being different. We will see latcr that the transxtmty of the vcrb does seem to
have some influence on the subjects’ judgments. ‘
Position A is ranked by all groups as the most natural pdSition, again just as one
would ¢)£pecL There is almost complctc agreement between the three subject groups. In
fact, there are no significant Wrences between any subject group for any position -
within Syiitactic Group I1, as opposed to the significant differences found between the
French and the two Canadxan groups for Posmon C in Syntactic Group I. Therefore, the
~ three subject groups would appear to agree fndre vainongst thcmsclvcé as to the natural- |
ness of the positiori of the quantifier in relationship to the subject with transitive verbs
than they dd when [T] is related to the subject with intransiti;'c verbs. This would tend to
indicate that the transitivity of the verb may play an important role as to the naturalness of

‘a particular position.

19
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MEANS OF NATURALNESS JUDGMENTS

FIGURE 2
SYNTACTIC GROUP 11
[T] RELATED TO THE SUBJECT WITH TRANSITIVE UERBS

H=FRENCH
Y=EASTERN CANADA
Z=WESTERN CANADA

=
]

(X}
0]
'l

(%}
'

N
(7
1

N
1

1.5=

' s g sy

f B c D
SYNTACTIC POSITION

A=[T] to the left of the NP

B=[T] between’AUX and PP ¢
C=[T] after PP but not in absolute final position
D=[T] in absolute final position

e
[

20



e 2
C. SYNTACTIC GROUP I VS SYNTACTIC GROUP II |

Thkr\c én‘c sinﬁlar tendencies between Syntactic Group I and Syntactic Group II. For
example, Position A is the most natural position; Position B is v'iewg:d as being quit'c’
common, but not as natural a§ Pésition A. This was true for both Syntactic Groups
There were no significant differences between Syntacuc Groups I and II for Position A .
for any subject group, but there was a significant difference (n< 001) between th'e natu-
ralness ]udgments for Syntactxc Group I for Posmon B and those for Syntacuc Group II.
Position B is significantly more natural for Syntactic Group I than for -Syntacuc Group II
for all three subject grodps. This is most likely dué t§ the transitivity of the verb, as that
. is the only \major difference between the two syntactic grddps.' With intransitive verbs,
[T] could only relate to the suﬂbject NP since no object NP i‘s possible. Thus with intran-
sitive verbs, the possibility of cdnstructing'an amBiguous sentence is not present, as [T],
whatever its position could only'relatc to the éubject NP. With transitivc verbs, on the
~ other hand, when [T] is maved from its normal posmon some. ambxgmty may be created
~ as there are now two NPs to which [T] could be related. This is particularly true for the
“French Canadxans, as therg is the possibility of [T] relating to either the subject or object _
NP when plﬁced between the é.uxilié.ry verb and the past participle. Although that is riot
true for SF, perhaps SF speakers are somewhat more cautious when chbosing ﬂ?is-con-
struction \A;ith transitive verbs simply bccéusé there is more than ohc NP in the sentence, ‘
even though in SF, [T] bet“;een thé auxiliary and the past pahiciplc can only relate to the
subject NP. (That is when both the subject and the object NPs are full NP, Ambxguous
constructions would be possxblc 1f thc object NP were a pronoun.) ‘

Font Position C, there is no significant difference between Syntactic Grdups ‘I and II
for the French Canadians, thus, in both instances, this pqsition is viewed as being

unpatural and seldom used. This is not the casoc for the French. In Syntactic Group I, .
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Posmon C fell into judgment category 3 in which the subjects were undecided as. to the
naturalness of the position of ['I'] In Syntactic Group 10, this posxuon is ranked as bemg

closer to level 2, thus causing them to judge the structure in the same way as the Cana-

22

dians rather than differently, as found for Syntactic Group I. Again the transmvrty of the

| verb is the probable cause for this difference. It is rare that one would place a quanﬁﬁeq

immediately to the left of an NP that it did not modify. .This could, again cause some
ambiguity for the listener, especially if the subject NP and the object NP were the same
number and gchder This was never the case in any of the tokens used in this experi-
ment; so'it is assumed that none of the tokens was ambrguous In speech one normally

tnes to avoid ambrguous sentences, because the speaker wants the listener to understand

i)

his message. Thus it 1sconcetveable that in this case, one might have expected an even

lower ranking. Those who tended to rank this position quite high may have misinter-
preted the token. They may have assumed that the quanttﬁer modified the NP to the left.

That would place [T] in its normal position, even though it was nat the NP that was

- underlined, siznifying that it was the subject NP and not the object NP that was being

-

modified. (Adjustments were made in this area, but as sorrte subjects were not always
conststent in their judgments for tokens illustrating the samevposition, it was difficult to
know exactly how they were interpreting the sentences.) Nonetheless, it is clear that the
French view Position C as being sxgmﬁcantly less natural in relationship to the subject

with transitive verbs than they do with intransitive verbs.

There was no significant difference between Syntactic Group I and Syntactic Group o

for‘Position D for the French. “'Fhey view this position as being very unnatural and rarely

- used. There was also no significant difference for the Westem Canadians, however there

was a significant dtffenence for the Eastem Canadxans Although both Canadian groups

view thlS posmon as being hrghly unnatural for both Syntactic Group I and II, the Eastern

, Canadians gave a statistically sxgmﬁcant htgher rankmg to Posmon Din relattonshrp to

the subject with transmve verbs as opposed to with mtransmve verbs. g is case,
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| ho§vcvcr, it'is not clear that this is due to the transitivity of the verb. It may again be due.
toa nﬁsintcrbfetation of the token on the part of some subjects. For example, in reading
the token they may have changed the function of the quantxﬁcr to a pronoun resulting in a
perfectly grammatical sentence. Thus a sentence like Lcs_mt'am.: ont mangé [T]. may
have been rmsread as meaning The children ate everythmg as opposed to its intended
meaning of All the children ate. This misinterpretation dxd not seem to hold true for all
the tokens in this group, therefore one might conclude that this diffcrcncc is not mally
significant (although statistically dxffcrent) In any case, it is clear that thls posmon 1s

generally viewed as bcmg unnatural for all three subject groups
D. SYNTACTIC GROUP III

"For Syntactic Group IIl, where [T] is related to the direct object, there are only two
positions possible: A 'and B. The readeris rcminded that accordihg to Kayne, the left-
ward movement of the dhahtiﬁer is not possible when it relates to a full NP for SF
speakers.11 Only tokens of this type were used in this experiment. Thus for the French,
only Position A should be viewed as_,natural and Position B should be vigwed as highfy’ |
unnatural, which is exactly What the results indicate as illustrated in Table 3 and Fighre 3.

For the French Canadians, according to Daoust-Blais and Lenﬁeux-N‘v‘p;r, it is
possxble to place the quannﬁcr between the auxiliary vcrb and the pas® “uur, -ne < 4n
when it modifies a full dlrect object NP. From the rcsults given, it ampe: - par b <o

true for some French Canadian speakers, but not for others: The rex)cm;cs in th

11The leftward movement of [T] is possible when it relates to a difect object pronoun, but not when it
“"relates to a full NP. Sentence (1) below would be grammatically incorrect, but (2) would be a perfectly
grammatical sentence. No structures like (2) were tested in this experiment.
(1) *II'a[T] acheté ses meubles A crédit.
(2) Illes a [T] achetés 2 crédit.

23



" TABLE 3
SYNTACTIC GROUP NI |
[T] related to the Direct Object

#  Subject Group A B
104 French 489 1.61

78  Eastern Cahada: 4.71 3.26

8  Westem Canada 4.80 2.89

Pos A = [T] to the left of the NP
‘Pos B = [T] between Aux and PP

. category ranged from 1 to 5 with the mean falling around level 3 with high standard devi-
ations, indicating that they are undecided as to the naturalness of this position. It does
sugges't, however, that this posiﬁon is not totally unnatural. A:lthqugh both Canz;dian
groups' scores were near the 3 level, and th'ere was no significant statistical difference
bct\':lvvccn the means of thé two dan_adian groups,' the subjects from Eastern Canada seem
to ﬁnd this positioﬁ slightly more natural than those from Western Canada. It may be
attributable to the fact that some Western Canadian speaker§ have been exposed to more |
SF than others. It is .clear that the French find this position highly unnatural. These

 results then would seem to support Daoust-Blais and Lemieux-Niéger's claim. It must

also be noted that there is again a significant decrease in naturalness when the quantifier is

moved out of its normal position for all three subject groups.

24.
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MEANS OF NATURALNESS JUDGMENTS

FIGURE 3
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E.‘ SYNTACTIC GROUP 1V

Finally, for Syntactic Group IV, [T] is related to mc indirect object and three posi-

. tions are possnbh A, B and E. Kayne's earlier statcment that L-Tous may not take place
whcn it modifies a full object NP would also apply here. For the French Canadians,

. Position B should be aegeptable for this syntactic group, just as it was for Syntactic

Group I, but this is obviously not the case as shown in Table 4 and Figure 4.

¢
ré

. TABLE 4 ‘
S SYNTACTIC GROUP IV
[T] related to the Indirect Object.
# SubjetGrowp . A B E
104 French 492 1.13 1.28
78 Eastern Canada 4.64 161 . 143

86 Western Canada . 466 1.53 1.43

Pos A = [T] to the left of the NP Pos B = [T] between Aux and PP
Pos E = [T] after PP but before the preposition related to the 10

With simple tense verbs, Position E would be possible, according to Daoust-Blais and

Lemieux-Niéger, but not with compound tense verbs as were used here. Thus, Positions

A and B should be natural for the French Canadians and Position E should not be natural.

Instead, it can be noted that Position A was na{tural, but both Positions B and E were
judged as being highly unnatural. There were no significant differences between Posi-

tions B and E for any subject group. There was a significant difference between the
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MEANS OF NATURALNESS JUDGMENTS

FIGURE 4
SYNTACTIC GROUP IV
(T] RELATED TO THE INDIRECT OBJECT

5 = ;
H=FRENCH
Y=EASTERN CANADA
4.5 = 2=WESTERN CANADA
4= .
3.54
3 -
2.5
- |
\
1.5 l’iz
: H
"/—f—- 3
1

SYNTACTIC POSITION

A=[T] to the left of the NP
B=[T] between AUH and PP
E=[T] after PP but before the preposition marking the 10
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French and each Canadian group for Position B. Position B is viewed as completely
unnatural for the French as their judgment falls at the 1 level, whereas, the means for the

‘two Canadian groups fall at the 1.5 level. This is still a clear indication that the Canadians

find this position highly unnatural, but not as unnatural as the French. Therefore, these
résults would seem to refute Daoust-Blais and I.;enﬁeﬁx-Niégcr's claim that Position B is
used m the French in Quebec. If it is used, it is extremely rare.

It should be noted that there were no other significant differences between the French
and the two Canadian gioups, but it is clear that the French were far more secure .in judg-
ing Position A as a § than were the Canadians. All three groups find Position A to be
highly natural, but the French Canadians were more hesitant in their résﬁbnscs. It is
possible that they again felt that a 4 was safer than committing themselves to something
that was absolute. It may also have been the tokens themselves. Perhaps. sor'nc did not _
like a particular token due to another factor. For example, a sentence such as

(18) Tai réfléchi 2 [T) mon affaire. L _

was often given a 4 rathcr thanas becausc, accordlng to some subjccts they would have
prcferred the indirect object NP in the plural rather than in‘the smgular 'I‘lns however,
means that they were judgingghe token on another grammancal factor and not on the
position of [T]. ' T .

The French subjects’ judgments clearly indicate that i’égitiéns B and E are highly
unnatural, while some French Cana'clia:ns'Jallp;cd for the slight possibility of this su"u;:-
ture occumng Although there was a 'signiﬁcan(st:itistiéal difference: bétwceh the French

and the Canadians for Position B it is evident that all three groups find these two posi-

‘tions to be extremely unnatm-al, as thcxr Judgments would be ranked near 1¢vel 1, and

there were no dxffcrcnces bctwcen Posmons B and E As with thc othcr syntactic groups,
there was a significant decrease i in naturalness as the quant:ﬁcr was moved out of its

normal position for each subject gr_oup



F. MOVEMENT ACROSS SYNTACTIC GROUPS
\ “V

Repeated nﬁeasuncs ‘were used to look at the various positions across symtactic groups.‘

The means are shown in Tables 5, 6,7,and 8, and a profile of the means for each posi-

tion is illustrated in Figures 5, 6, 7, and 8.

*

1. POSITION A *

\

A ]

!

Table 5 and Flgure 5 offer a profile of the means for Posxuon A across the four

: syntacnc groups fqr each subjcct group. Thc);c wcrc no slgmﬁcant dnﬂ'crcnccs for the
o

Frcnch thus normal position was judged approxxmatcly thc ‘same for each syntactic

group The fact that [T] was related to the subject or thc object was msngmﬁcant when

the subjccts made their dccnsnons Thxs was not true for the Frenéh Canadxans There

_were no 31gmﬁcant dnffcrences betwccn Syntactxc Group I and Syntactxc Group IT as both

#
104
78

86

-

TABLE § | .
POSITION: A FOR SYNTACTIC GROUPS I, II, III, 'AND v

4

Frcnch L 492
Eastem Canada - 4.78
Western Canada 4.85

-

4.94 - 489 492
4.85 4.71 - _4.64
490 - 480 466

. Pos A = [T] to the left of the NP modified -

SG1 = [T] related to the subject with intransitive verbs

SGII =[T] related to thc subject with transitive verbs ’ ——
SG III = [T] related to the direct object .
SGIV =[T] related to the indirect object.
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FIGURE 5
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POSITION ﬂ FOR SVNTHCTIC GROUPS l Il Ill HND v .

H=FRENCH
Y<EASTERN CANADA
Z=IWESTERN CANADA
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I no mo v
 SYNTACTIC GROUP

,ﬂ-[Tl to the'left of the NP it modifiess

4
-[Tl reluted to the subject with intransitive uerbs

: II-[T] related to the subject with tmnsitiue verbs

III-[T) related to the direct obje.ct
1U=[T] related to t Indirect_ object
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of these related to the subject. There were also no significant differences between Syn- ,

31

tactic Gronps IIT and IV as both of these related to the object of the sentence. There were,

however, significant differences (p<.001) between the two syntactic groups relating to

-

the subject and the two syntactic groups relating to the object. It must first be made clear

that for all four syntactic groups, Position A was judged to be the most natural position,

: “but for some reason, the French Canadians were more hesitant to give a jlxem of 5to

" the quantifier relating to an object NP than they were to a snbject NP. Th soning

behmd this is not clear. It may agam be attributable to their lmguxaﬂc msecunty or may
have had so;nethmg to do with the tokens themselves. As discussed in section E Syn-
: tactic Group IV, it may have something to do with the number of the NP to which [T]
.was related. éll subject NPs in Syntactic Greups‘I and II were plural,‘ but half of the
ebject NPs were singular, and the other half were plural. Although the results are not

' concluswe, when [T] was related to a singular object NP, it was Judged slightly lower by

some Canadlan subjects than were the plural NPs. The mﬂuence if any, of both numbex

y

. and gender constitutes another area for futher investigation.

Pl g

N
2. POSITION B

Table 6 and Figure 6 ':ow the profile of the means for Position’B in whxch [T] has
been placed between the auxiliary verb and the past parqcnple There were 51gn1ﬁcant
differences (p<.001) for each subject group between each syntactic group. When the
quantxﬁer relates to the subject with intransitive verbs it is judged to be % highly natural -
position. When the verb is transmve it is still judged to be lﬁghly natural, but is signifi-
cantly less natural than with intransitive verbs. When the quantifier relates to the dlI”CCl

K\Bbject it is mgmﬁcantly less natural than when it relates to the subject, but more natural

than when it relates to the mdxrect obJect The French viewed thls _position as hlghly
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TABLE 6

POSITION B FOR SYNTACTIC Gliouﬁs' 1, I, III, AND IV
‘ -

#  SubjectGroup ' SGI ‘ SQ_H SQJII o S_CLI!
" 104 French " 4.63 4.18 161  1.13.
78 EastemCanada  4.43 V “4.14 3.26 . 1.61
86 WestermCanada 440 3.94 289  1.53

Pos B = [T] between AUX and the PP |
SGI =[T] relatcd to the- subject with intransitive verbs
i J SGII = [T] rclated to the subject thh transitive ve;bs
*SG III = [T] related to the direct object |

SG IV = [T] related to the indirect object _

¢
N

un}latural, while the French Canadians were undecided as to the naturalness of this
"-position, ihdicating that it is heard or usgﬂ occasionally. Finally, when the quantifier
rclafcs to glc indirect objggt, it is viewed%gas '_hi'ghly-unnatural by all three subject grou'ps
and is significantly (p<.001) léss ni'tural for this syiftaéﬁc group than for axiy of the
others. Although th_ere was a statistical diffcrcncs for the French wﬁen Syntactic Groups
I and IV were tested, it must be noted that in both syntactic éroups this position was

.

judged as highly un%atural, which was not the case for the French Canadians.
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FIGURE 6

PbSITION B FOR SYNTACTIC GROUPS I, I, 111, RND v

H=FRENCH
H Y=ERSTERN CANADA .
~ 2=WESTERN CANADR

R noom . w
SYNTACTIC GROUPS

‘B=[T] between AUX and the PP

I=[T] related to the subject with intransitive verbs
11=[T] related to the subject with transitive verbs
111=[T] related to the direct object
1U=[T] related to the indirect object
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3. POSITION C o B

Position C can only be compared across Syntactic Groups I and III as these positions
do not cxxst 1mSyntact1c Groups I and IV For Position C, there is a significant dlf-
fcrcnce betwccn Syntactic Groups I and II for the French, but not for the two Canadlan
)Groups, as shown in Table 7 and Figure 7. Thcrefore, the transitivity of the verb sccms

to have influenced the French subjects' judgments as to the naturalness of this posmon\

(as was seen for Position B), but the transitivity of the verb played no significant role Lk\

the French Canadians' judgments (contrary to what was seen for Position B). ) \

| TABLE 7
POSITION C FOR SYNTACTIC GROUPS I AND IT ~

#  Subject Group SG1I SGII

104  French ‘ 2.92 2.27
78 Eastern Canada 191 - 2.08
86 WestemCanada  1.92 2.13

" Pos C = [T] after the PP but not in absolute final position
'SG I .= [T] relaied to the subject with intransitivé verbs

SG II = [T] related to the subject with transitive verbs

34
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FIGURE ?
POSITION C FOR SYNTACTIC GROUPS | AND "

Y=FRENCH
" y=EASTERN CANADA
2=WESTERN CANADA

SYNTACTIC GROUP
C=[T] after PP but not in absolute final position

I=[T] related to the subject with intransitive verbs

11=[T] related to the subject with transitive verbs ’
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4. ‘POSITION D

Like Position C, Position D can only be compared between Syntactic Groups Tand II
as shown in Table 8 and Figure 8. There was no significant difference between the two
syntactic groups for the French, but-thcre Was a significant difference for the two Cana-
dian groups. This is ‘the exact opposite of what‘was seen for Position C. PoSitiorp D was
signiﬁcanﬁy less natural with intransitive verbs thah with transitive verbs, however

Position D for both‘sy‘ntactic groups is viewed as being unnﬁnx‘ral for all three subject

groups.
S TABLE 8
POSITION D FOR SYNTACTIC GROUPS I AND II
- 104 \ French . | 1.72 1.77
78 Eastern Canada 127 1.56
B 86  Western Canada 1.34 1.54

Pos D = [T] after PP in absolute final position
SG I =[T]related to the subject with intransitive verbs

SG II = [T] related to the subject with transitive verbs-




MEANS OF NATURALNESS JUDGMENTS

FIGURE 8
"POSITION D FOR SYNTACTIC GROUPS | AND 11

H=FRENCH
Y=ERSTERN CANARDA

2=WESTERN CANADA
2-

— R
1.75« H ——
1.5+

1.25+

) ) o]
! - " |

'SYNTACTIC GROUP
D=[T] in absolute final position
I=[T] related to-the sub ject with Intransitive verbs

11=[T] related to the subject with transitive verbs
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G. . FILLERS _

Eight fillers were used that were syntactically different from the tokens used in the
four principle syntactic grouf;s. Although the findings here could not be viewed as
conclusive since there were only orie or two tokens of a particular type, there are some
general tendencies which lend themselves to speculation and further investigation._ Table

9 shows the tokens and the means for each subject group.

TABLE 9
FILLERS g
(a) Les voisins viendront [T} ce soir. 432 391 3.87
(b) Les filles aiment [T] cet acteur. 378 317 279
(c) Lecafé renverse [T]. b 112 1.69 155
(d) Je pense [T] & mon affaire. " 145 165 172
(e) Il se souvient [T] de m_p_cmcs_amms 5 .. 1.24  1.76 1.67
(t) C'est [T] elle qui a tué les lidvres. 1.03 1.72 1.38
A (g)' Les garcons qu'elle a [T] connus sont morts. 1.91 196 1.76
(h) La maitresse a [T] laissé les enfants sortir. - 1.14 231 208

FR=French EC=Eastern Canada WC=Western Canada

Token (a) examines [T] related to the subject after a simple tense intransidve verb; but
not in‘abeolute final position. All three groups judge this token near the 4 level, iﬁdicat-
ing that it is very‘common, but not as natural as 5. There are no significaht differences
between the three subject groups. This structure may be compared to Position B for

-,Syntacnc Group 1 whcre [T] was placed between the auxiliary verb and the past.
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participle. Position B for Syntactic Group I was significantly more natural than token(éa)

| for all three subject groups. This might then suggest that R-Tous is slightly’more natural
with compound intransitive verbs than with simple tense intransitive verbs.

Token (b) tests [T] related to the subject after a simple tense transitive verb. The
French rank this position again near the 4 mark, but it is significantly less natural than (a),
thus the transitivitgof the verb would seem to be an influencing factor when the subjects
| made their judgm_orrts, Just as was found with the verbs in a compound tense. It is also
significantly less natural than Position B Syntactic Group II, which would be the com-
parable structure with compound verbs. Thus, this position js ranked more natural with
compound verbs than with simple tense verbs, as was true for (2). It is quite different for
the two Canadian groups, however. When Position B Syntactic Group IT was tested,
there were no significant differences between the three groups. They all judged thrs posr-
tion around level 4 . Thc two Canadian groups. in this case judged (b) to be in the 3
range indicating that as a group, thcy were undecided as to the naturalness of this posi-
non but that it is not totally unnatural The Canadian groups' judgments were srgmﬁ-
cantly less natural (p< 001) for token (b) than for Position B Syntactic Group II. In fact,
~ these two types of structures are viewed so differently, that their judgments do not fall
into the same range. Obviously, the fact that a simple tense verb was used as opposc'd to
a compcund tt;nsc verb played an important role in influencing their decisions. There was
also a signif'rcant difference between the French and the Western Canadians at .01 and
between the Frcnch and the Eastern Canadians at .02. Thus, for this particular structurc
 the three groups are no longer in agreement as to the naturalness of the position of ['I'}

Token (©) was an cxamplc of [T] related to the subjcct with a simple tense transitive
verb in absolute final position. This would be comparable to Position D Syntactic Group
" | II This particular token uras taken directly from Daoust-Blais and Lemieux-Niéger's

- srudy. It was used because the senténce itself does not seem to make any sense.

Therefore, the subjects were more likely to give it a lower naturalness rating based on



semantics rather than the position of [T]. In fact, when some subjects completed the 40
questionnaire, they asked what this sentence was supposed to mean or marked it as not
meaning anything. The French judged Position D Syntactic Group II to be near the 2
level which means that this type of construction was not very natural and was seldom
used. However, they judged (c) to be very close to 1 indicating that it was not natural at'
all and would never be used. This may not have anything to do with the fact that in one
case the verb was in a compound tense afd>m the other it was in a simple tense. As stated
earlier, this most likely has to do with the semantics of the sentence. There was no sig-

_ nificant difference in naturalness between the French and the two Canadian groups for
this particular token. There was also no significant difference between the two Canadian’
groups.. No significant differences were found between Syntactic Group II Position D
and token (c) either. But according to Daoust—Blais and Lemieux-Niéger, it is possible to
have [T] in absolute final position after a simple tense verb. The two Canadian groups
judged this token to be highly unnatural just as they did for Position D Syntactic Group
II, which would seem to refufe their claim since this token came directly from their study.

It is assumed that Daoust-Blais and Lemieux-Niéger find no semantic difficulties wilk it

in CF.

Tokens (d) and (e) looked at [T] rclatcd to the indirect object and was placed after a ,/‘ \

simple tense verb but before the preposition related to the indirect object. There were n&
significant dlffcrcnccs betwcen the judgments for (d) and (e) for any subject group. b
There were also no significant differences between the three subject groups for either

token. The means for the three groups would mdxcate that thxs is a‘highly unnatural
structure. However, according to Daoust-Blais and chmcux-Nléger, it is possible to

have [T] after a sirnplc tense verb but before the preposition related to the indirect objcct.,‘
but it is not possible with compound tense verbs. Yet the subjects judged Position E

Syntactic Group IV in which [T] is positioned after the past participle but before the

[
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preposition related to the indirect object and tokens'(d) and (¢) in exactly the same way.

This then questions Daoust-Blais and Lemieux-Niéger's hypothesis. o

Tokens (f) and (g) tested the movcmcnt‘of [T] across relative clauses. If one were to
rewrite token (f) as two simple sentences, [T] would appear in‘only one of the two simple
sentences. In the c\omplex structure, [T] was placed'in the main clause, but it did not
appear in that sixﬁf)lc sentence. The French almos;t unanimously find this token to be
completely'unxiamral. It would then seem safe to conclude that this type of construction
is not at all possible for the French. There was a significam difference (p<.001) between
the French and the Eastern Canadian group, but no sxgmﬁcant differences between the
Western Canadxans and the other two groups., The Wcstem Canadians' judgments were
midway between the other two groups. This particular token came from the film Pris au
collet which is part of the I_Qulmgndc_mm series produced by the National Film °
Board of Canada. Thus, it is obviously a structure that may be used by ccrtainl French .
Canadians. ~ Although there is no significant difference between the Eastern and Western
Canadian groups, the Western Canadians' scores fall close to level 1, while the Eastern
Canadians' judgments are closer to level 2. This may suggest that Western Canadilans are
less likclito move [T] into a clause where it would not be found originally.

The judgments for token (g) are quite different (at least for two of the three groups).

In each case, the judgxgents are near level 2. . There are no significant differences between A
the three groups, indicating that they all judged this token in approximately the same way.
There were §igi1iﬁcant differences for the French and the Western Canadians when token
(g) was compared to token (f). For this token, [T] would appear in both clauses were
they rewritten as separate sentences. Thus, one has the option of moving [T]. The
Ffenchand the Western Canadian groups make a clear Siisu'nction in naturalness between
these two types of structures, While the Eastern Canadians do not. It would appcar’that

some sort of leveling is taking place for the Eastern Canadians, so that they may move [T]



U acrogs clauses regardless of their original construction. ‘This is not happening for‘ the +

French or Western Canadians. | | |
Finally, token (h) deals with [T] relau‘:d to the direct object and placed between the’

auxiliary verb and the past participle followed by an infinitive of which the object of the °
conjugated verb/would be the subject. In keeping with the general rule that L-Tous may
not take place when [T] is related to a full object I’P, the French ranked this position as
being completely unnatural. It was, ho_cher, significantly lower than their judgrﬁcnts
made for Position B Syntactic Group III. This may be due to the fact that there were two
verbs involved which blocked L-Tous to an even greater c).(tent, especially §incc the NP
acts as both a subject and an object. There Wcrc significant differences (p<.001) between
the French and the two Canadian gmups. but none between the two Canadian groups.
This structure for the Canadians was judged near level 2. It was also sxgmﬁcantly less
natural for both Canadian gmups when their judgments were compared to those of
Po§ition B Syntactic Group III. Thus, for the Canadians as well, L-Tous is less likely to

occur when the NP to which [T] is related has two gfammatical functions and is used

\@ a compound verb and an infinitive.

H. SOCIOLINGUISTIC FACTORS

The French were tested separately &each syntactic group and for the fillers to see if -
there were any significant differences amongst the subjects due to age, education level,
region or gender. There were no signiﬁcant differences due to age, education or region.
The two Canadian groups were tested as one @p for any dlffcrcnccs due to age or
cducauon There were no significant differences due to cxt.her one of these variables.

This indicates that these particular sociolinguistic variables had no influence on the judg-
"ments made for each position for each syntactic group (for the profiles of the means for

these sociolinguistic factors, see Appendices B, C and D).
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" As for gender, for the French, there was only one area in which there was a significant

statistical difference between the males and females, but there were also some recurring

tendencies in some of the other syntactic groups. | i
The one position where gender seemed to be significant was for Syntactic Group IV

Position E, wherNT] was after the past participle, but before the preposition rclatcd to

the indirect objcct

1

ongé [T] & ses petites amies. \
ean for females was 1.13 while the males gave this a 1.39.,
It is obvious that bo ups find thxs posmon highly unnatural, but the males are
slightly less conservauvc in thelr Judgmcnts leaving more room for variety. In general,
most linguists would agree that females are usually more conscryatwc in their speech than
males. They are more likély to try to speak “correctly”. This general tendency that
females were m;)rc coniervativc than mal&s‘in their judgments was found throughout the
v rcsi;ltsv dealing \Qith gendex-' (although thcrcowcrc no other signiﬁc§nt statistical
differences). This tendency is evident if one examines the means listed in Table 10. ,v

For Syntactic Groups I and II, where other positions are definitely possible, females f
rank normal position slightly higper than males, but for the other positions, generally it is
the males whose naturalness judgments are slightly higher, suggesting more, flexibility as -
to what they view as natural. It is clear that both the males and females view each posi-
tion in the same manner since there are no major level differences betwcch vthc two
- groups. For Syntactic Groups III and IV, where normal position i§ really the only posi-
tion possible, the subjwﬁ' Jjudgments \arc‘ almost exactly the same, But again, for Posi-
tions B and E, the females are slig’ﬁtly more conservative in their judgments as to the

unnaturalness of these positions. There were obviously a few males who allowed for

some deviation from the "norm".
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-  TABLE10
'~ GENDER FACTOR FOR THE FRENCH .
) A B c D ~ E
F/M F/IM F/IM " FIM " F/M
SGI 4971490  "4.59/4. 65A 289291 171180 |
SGI  4.99/4.92 4.08/4. 30 228221 - L7192
sGm 490490  155/1,73 AN
SGIV 491492 1.06/1.21 | . 113139

SGI = 1 related to the 'subject'_with intransitive verbs
SG II. = [T] relafed to the s_uhjectwith.lransitive verbs
SG III = [T] related to the‘&ireet object .
SG IV = [T] related to the indirect object P
POS A = [T] 0 the léft of the NP modified L s
POS B = [T] between AUX and PP _ |
0 PQSC = [T] ‘after PP but not in absoiute final position
POS D = [T] after PP in absolute final position ' |
| POS E= m after PP but before the prep'osmon related 10 IO o f" |
| T F=d6 M=46 R
Y : i
As for the two Canadran groups, there were two areas where theﬂ&e stat:stxcally

sxgntﬁcant differencm between the males and females. "‘able 11 offers-a profile of the

o+

means for-the two groups. There were no statrsucal srgmﬁcant dxfferences for Syntacuc

Groups I and III‘ but there were for Syntacti Groups ‘ d IWAgam 1t must be noted
that. thexr naturalness Judgments in all areas are basrcally the same. Thatis, thqre are no

major drscrepaneres between the' two groups In Syntactrc Groups I and IV where there



{
—

are srgntﬁcant statistical differences (p< 001), one notes the same pattern as that exhrblted45
by the French subjects. When one exammes the means for Position A, 'normal’ position, ... .
the females' Judgments.are higher than the males (which is actually true for all four ‘
syntactic groups). Thus, females seem to prefer ‘normal’ position, as they know that [T)
to the left of the Nl" it modifies is grammatically correct. ‘They tend to be more conser-
vative in their speech. On the other hand, again for Syntactic Groups II and IV, the
males' judgments are higher thgn those of the fentales for each position outside of
'normal’ position. These htgher judgments are a reﬂectlon of males' more liberal or
flexible attitude towards their own speech pattem ~This (sort of consnstency was not
vcompletely upheld for Syntactlc Groups I and ITI, where no statlstwal dlfferences were
found It must also be noted that the number of males to females for both Canadian
groups was extremely &meven There were far more females than there were males, as
opposed to the even dlsmbuur.m in the French group. It may be that, should more males
; ‘/ be tested the scores would be different. It would then appear that gender does have

Qsome effect on the naturalness Judgments of the tokens, where females seem to be more

conservatwe than males.

~As for the fillers, the soc’iolinguistic variables of age education and region did not

" seem to mﬂilence any of the subjects judgments. Gender was not a factor for any of the |
_ﬁllers for the French and was only sxgﬁnglcant fol token () for the Canadxans The -
" males ranked this token sxgmf icantly hlgher than the females. The males of both
Canadaan groups ranked this token near level 2, while the females for both groups ranked
it near 1 5 suggesting that females find this structure very unnatural (For a complete
breakdown of the means for gender for the fillers see Appendix E). This would lend
some support to Daoust-Blals and Lemieux-Niéger's claim that this sfructure 1S p0551ble ,\{ .
at least it seems to be for some males ‘What is interesting is the fact that the males ranked :
~ (d), a similar type structure, lower. There v was a significant dl(ference b}.'tween tokens (@7‘ .

4 and (e) for the males from Eastern Canada, but no significant difference for the -W p%tcrn
. : , N
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TABLE 11
A . B- c D
F/M  F/IM | F/IM  FIM
SGI EC 483460 447437 1.91/1.90  1.26/1.28
WC 4.88/4.77 442434 188197  1.27/1.49
SGI EC 492471 404434 195232  1.48/1.69
CWC 495477  3.87/4.15  2.08/2.27 1c477q 7\7/
SGII EC 477461  3.153.46
WC 4.84/4.68  2.9512.77
SGIV EC 4.75/4.47  1.48/1.85
. WC 4674 61 1497166 |
o 5. SG1 - [T] related to the subject thh intransitive verbs
SGII' = [T] related to the SUb_]CCt \ixth transmve verbs
a SG III = ['I'] related to. the du*ect object
,,,SG IV = [T] related+to the indirect object
POS A = [T] to the left of the NP modxﬁed
POS B = [T] between AUX and PP
W POS C = [} after PP but not in absolute final position
: * POS D [T] after PP in absolute final position

'GENDER FACTOR FOR THE TWO CANADIAN GROUPS

" E
F/M

1.29/1.72

1.36/1.67

£ . :
e.‘ o, . ‘PQS E [T] after PP but before the preposmon related to IO

EC = Eastern Canada F—SO M_27
WC = Westem Canada F_62 ‘M_zz
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Canadian males. This might suggest that the preposition used may also influence their

Judgments as to thc naturalness of a pamcular posmon but that remains to be exammed
by furthcr rcsearch
The French males and females were amazingly similar in their judgments for the ~

fillers. Therg wenp v;;tually no differenges at all. Although there were no other signif-

N P

icant statisti ":s':betwcen the Eastern Canadian males and females, it should be
noted that the males ranked every filler as being more natural than did the fcmales 'I'hls |
lends additional support to thc notion that females are more conservau\fe lmgurstrcally

than males in their speech '

IfCFis s:artmg to allow the quantifier to move to positions that are viewed as un-
natural by the French then it would appear to be males who havc started this. L as
" they tcnd to be less careful in their speech and are more ﬂcxlblc as to the kmdmnc-

tures thg:y will allow.‘ It may be that,fol‘- males, on the whole, as long as commiunication

is not impeded, a given structure is passable.



- IV.  DISCUSSION

Subjects' attitudes about language, what is acceptable and what is not, is an interesting N
question, and certainly played,_;m important role in this study. Ideally', if one wanted to
fmd out how 'natural’ or perhaps how frequent the'structnres were thatge‘\:/iate from the *
"norm", one would listen to the apeech of native speakers and record their convet'éationé
Unfortunately, 1f one used that method, it rmght be exgemely difficult to gct subjects to
‘ illicite the stmctures that one wished to examirie. When givena qucstxonnan'e, suchas
the one used in tlﬁso;;enment, subjects automatxcally equated 'natural’ with "gram-
matical”, which Wasmot what was being tested. Thus, there are problems w1th both |
types of cxpenments \

‘ P |

When some sﬁbjects were interviewed, ;fgcr they had completed the questionnaire, ‘\\‘

they often said things like, "I'm not sure if ths is 'right’ or not." Oﬁ person said that « .\\\
some of the tokens were quite "tricky" and that she really had to think about"them_. Some
absolutely refused to fill out the qixestionnaire, beeause they were afraid that they, as
individuals, were being tested and they didn't want to-admit that they did not know the

"correct' answer. Although it was explamed that what was bemg sought was their own
bpersonal opinion and not necessarily what was nght some still tended to be somewhat
cautious when making their decisions. Another subject made comments by. certam tokens
‘~ stating that it was mcorrect, and that he would never say it like that, but he admitted that
there were people who sometimes used those partlcular slructures ‘

Some agreed to fill out the questionnaire, but preferred to remain anonymous. They

did not want anyone to be abic to say that they did not know how tospeak propcrly, in

which case, it was probably better that they did remain anonymous, because they were
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then more relaxed when they gave their answers. Such responses may be slightly more
rcﬂéctive of how people actually speak. This attitude was particularly true for the
Western Canédians who were extremely defensive when approached. They wanted to
know why this study was being done, what I was lobidng for, and what I hopgd to prove
‘by all of this. They were afraid that I wanted to Show that their French was 'inferior' to
SF oreven to the French spoken in Quebec.” One French Canadian man from a taped
interview (for Another experiment), made the comméht that whenv he had _cailed a store in
Quebec, they were surprised to learn that French was spéken in the West,and made a
sarcastic rcmark to that effect. He also felt that they, (the Westcm Canadians) wcrc a

| separate group from the Québécons In the West French speakers are so mundatcd by
English, that many French Canadxans havc told me that they feel as if they are losing their
Frer_lch. They live in a predominantly Enghsh-speakmg community, and apart from the
French that they speak at home with their family, they hardly eéver use it. Often when
they study French in school, they are studying SF and not CF. Textbooks are based on -
) SF, and many of the instructors are SF speakers. This is slowly changing at all levels of
education.l -The province of Alberta, at least, is attempting to find and hire more native CF
speakers so that students will not have to feel that their languagms mfcnor to that of
other native French speakers. Despite the influence from SF for the Western Canadians,
itis important to note that for this experiment, their_ responses were, in almost evcry case,
the same as 'those for the French in Quebec, so that one could talk about the mobility of
[T] for CF on the whole comparcg to SF, and not just the Ffench in Quebec.

The French were obviously more linguistically sécurc about their answers, and many
subjects chose only ones and fives with nothing in between. THey judged a token as
being either natural or unnatural. This may be another indication that they were thinking
in terms of what they felt was right and what was wrong. One subject marked Position B

for Syntactic Group I, where [T] was related to the subject with intransitive verbs and
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- pletely natural.

: 0
. » ‘ .
placed between the auxiliary verb and the past participle, as 5 if one meant that it was

"une forme d'insistance"”, and as a 4 if it was not. Actually, there were many subjects

e

who preferred Posiﬁon Bto Positién A for Syntactic Group I. This choice has perhaps
become ; question of stylistics or personal preference. Some would simply say that that
particular structure sounded better to them, indicating that itis probably the form that
thcy, personally, use the most often. This is ‘only for Syntactic Group I.

It is generally accepted that a language user moves the quantifier out of it§ normal
position to draw attention to it. A semantic notion is highlighted or emphasized by

moving it to another position, and thus could be viewed,

placement of the quannficr does not 1mpedc the compre enswn of the sentcnce, and
simply draws attention to itself, Ithen it should be viewed as 'acceptable’, even if not com-
One French subject stated that certain tokens were complétely unnatural because they
~ did not mean anything , as in filler tokens (c) Le café renverse [ T]. and (f) C'est [T] elle
qui a tué les li Q vres. If a sentence does not mean anythmg, then it obvxously would |
receive a low naturalness rating, since the mtcnuon of most speech is to be understood
and to communicate. It is intznésﬁnlg thaf for the two tokens mentioned above, some
subjccts found them inco‘mpréhcnsible, ‘whijle others ranked them fairly high on tne
naturalness scale. o |

Anothcr French subject sent back a corrected questionnaire. Some were marked as

complctely wrong, while for others he stated that a particular form was fme but it would

~ be better 1f it were rewritten another way. In each case, he rewrote the sentence so that

the quantifier was in its normal mﬂion. Even for Position B where [T] was between the

auxiliary verb and the past particfplc he stated that it would be betterif they were written .

with [T] to the lcft of the NP modified. He d1d not mark those as wrong, but sxmply

'‘better’.

50
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In any case, this study demonstrates that the most natural place for the quantifier is in

its "normal" position. Since movement would only occur for some stylistic purpose or
personal preference, [T] loses naturalness when moved from its normal position. The
further removed from its normal position, the less natural it becomes thus 'dnstance
would seem to influence one's judgments. » -
Subsequent research by this experimenter investigated the frequency of [T] occurring
' out.of its;“ normal position using a concordance that was run for the word rout, and any of
its other forms, from three texts by Michel Tremblay. Tremblay is noted for writing in a
style which captures the way French Canacjians in Quebec speak. Of the several hundred
examples where [T] related to a full NP, there were only a few examples of [T] out of
normal position. There were only two examples of [T] related to the ysubject and placed
after a simple tense verb. [T] was never in absolute final position, and there were no
examples with cornpound tense verbs They were:
("2(;)"‘Iecs males doxvent tous étre couchés.
’ (21) Les clients cridient toutes apres elle..
We know that these two sentences would also be natural for SF speakers.

| As for [T] related to the direct object, there Were several examples of L-Tous (not only
- with verbs in passé composé, but also in the futur proche which consists of the present
tense of the verb to o plus an infinitive). This would seem to confirm the notion that
L-Tous is becoming more frequent in CF. Since Tremblay writes the way the Québé-
cois speak, and since [T] is norrnally pronounced /tUt/ regardless of its function or posi-
tion in the sentence, he often writes it as toute, but&s does not necessarily represent the
feminine smgular form. As a result, some ambiguous structures were created. In some
cases, it was difficult to determine whether [T] was meant as an adverb or whether it
really was related to the NP. For example, a sentence like (22) could be mterpreted as
Did you completely paint the house?

(22) Avez-vous toute peinturé la maison?
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Given that interpretation, [T] would be placed where it would be normally, that is as

an adverb modifying a vcrb,.12 or if L-Tous took place, then the sentence would be
translated as Did you paint t;ze whole house? There were other examples that were not
ambiguous, as in (23) and (24).
| (23) Y' a toute sorti son répertoire.

(24) J'ai toute entendu ton concert.
In both of these sentences [T] would be determined as being related to the full object NP.
L-Tous was also fairly common when it related to ¢a as in (25).

(25) J'ai toute lu ga. |
L-Tous did not occur every time there was a full NP or ¢a, but it was frequent enough
th_at one could assume that this is a growing trend in the French in Quebec. "This same
tendency was evident for CF ‘in general in this study, as there were those subjects who
found this type of construction completely natural, while others did not: One niight
pmsurﬁc that those Canadians who ranked this type of structure as a 1 on the naturalness

scale were those who had been exposed to more SF, as it is clear that this is not a nétural‘

Y

_structure for the French. /L,
| In the concordance study, there were no examples of L-Tous when [T] was related to

the indircét object, and as W‘as shown in this study, the subjects did not find [T] between
 the auxiliary verb and the past participle to be natural when [T] was felated to the indirect
objééf. It would appear that L-Tous does take place for the direct object, but not for the '
indirect object, which contradicts Daoust-Blais and Lcmieux-Niéger’s claim. This may
be due to the fac-t that there seem to be severéi.arcas in CF where the rules are being
leveled or overgeneralized. The exceptions are beginning to conform to the general rule.

For example, in SF object pronouns follow the verb in affirmative commands, but

precede the verb in negative commahds. In CF, there is 2 growing tchdcncy for object
o .
)

124 similar token was used in the questionnaire. Ma méré a [T] peint {a_mgm Some subjects said’
that if it were an adverb, it would be perfectly natural. ' ‘ ‘




pronouns to follow a verb in the imperative whether affirmative or negative. This could >3
be viewed as an overgeneralization of the rule for the placement of object pronouns in
rclatmn to verbs in the i 1mpcrauve Since it is quite natural for [T] to occur between the
auxiliary verb and the past parncxplc when it relates to a full subject NP, and since L-Tous
ma;' occur with object pronouns, perhaps French Canadians have overgeneralized the rule
0 apply to'the direct object whcthcr itis a full NP or a pronoun. The leveling effect may
bc commg from two directions. This overgeneralization tendency would seem to be true
| rcgardlcss of age or educaqon It would appear that males are the instigators of this |

‘j lcvchpg _effect, since they seem to be slightly more flexible concerning the position of [T].

| Thfs overgeneralizaﬁon,ftendcncy has begun with the direct object, but has not yet been
carried over to the inaircct object. Perhaps this is because the indirect object has an overt
marker, th’glpreposition, which somehc;w tends to block the movement of [T].

Anothcr éxample of [T] out of its normal position, taken from another source, is that
of token (f) of the fillers, C'est [T] elle qui a tué les ligvres. This was taken from the :
French Canadlan film Pris au collet. The actor who spoke this line portraycd amanin his

’ ﬂfnes or sxxtxes, and lived in a small town in Quebec. He enjoyed hunnng and trappmg
rabbits with his daughter. He did not appear to have been educated beyond high school,
if indeed that. It must be noted that when the means were compared for this particular
token, the subjects from Eastern Canada gave this a signiﬁcantly higher rating of natu-
ralness than those from France or Western Canada, although the score was generally low
(1.72), it does imply that this type of construction does exist, albeit mfrcqucntly

Many of the characters in Tremblay's works are simple, working-class people. Some
corne from rural areas and most are not well educated. His writings seem to depict the
speech and actions of 'ordinary' people. The character in Pris au collet is also reprcsc‘nta-
tive of a rural, workmg-class man. Thxs might 1mply that the speech patterns used in

Tremblay's works and in the film typify the working-class whose education is limited to a

high school diploma or less. This study showed that there were no significant differences
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dueto agé‘ or education. Tﬁere were some subjccts over 60 with only two or thtée years
of schooling, as well as those with Master's or PhD degrees. If one looks at the results
for the education factor for Syntactic Group III in Appendix B, it can be noted.that for
Position B, where L-Tous occurs related to the direct object, there is a steady decrease in
naturalness as the education level increases (althoug(h thcrc‘ is no significant statistic‘:zl
difference). Those with less than a high school education ranked this position at the 3
level, while those with more than a bachelor of arts degree ranked it closer to thc 21evel.
‘This clearly indicates that this structure is less natural for those with a higher education,
but still allows for the structure to be used (perhaps in very casual'speech). It also
indicates that these structures are quite typical for common people like those in

Tremblay's plays and in the film previously mentioned.
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! V. CONCLUSIONS

The findings in this study show that French spcakcrs, whcthcr from France or
Canada, find 'normal’ posmon, that is [T] to the left of the NP to whxch it is related, to be
the most natural position. This was true whether it was related to the subject or the object
NP. R-Tous< cither between the auxiliary verb and the past participle or after a simple

tense verb is also considered to be a highly natural position, although not as natural as

g

normal position. This would seem to be in keeping with grammar books, such

Grevisse, Hanse or Chevalier. R-Tous does appear to be more natural with i intf ve
verbs than with transitive verbs, and is also more natural with compound tense verbs than
with simple tense verbs. This is true for all three subject groups. .
THe Fncnch are quite divided as to the naturalness of [T] after the past participle but not
in absolute final pc’>sition. Some find this construction perfectly natural while others do
not.. In this case, Kayne's hypothesis that [T] may occupy any 'adverbial’ position
would seem to account for this d:sagreement among subjects, since the rules about adverb
placcmcnt are also quite flexible and changcable with many exceptidns. Stythcs and
- personal preferences would seem to be the mediating factors. A study on thc placement
of different kinds of adverbs as to where pcople preferred to use them mxght clanfy thls
point. Results from such a studxg;ould then be compared to the results found here to see
- if there was some consistency. amongst subjects as to their placement of certain adverbs
and the placement of the qhahtiﬁcr.
The F}ench and French Canadians seem to disagree seriously on this point, as the
French Canadians did no£ find [T] after thc paSt participle but not in absolute final
position very natural, which cdﬂh;dicts Daoust-Blais and Lemieux-Niéger's clgﬁm that
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this j)articular structure is allow?d,in CF. I may be allowed, but it is quite rare, making it
debatable as to whether this typé of construciion should be included in a description of
[T] in CF.

This study does, however, support the claim that in CF, [T] is not ﬁllowcd ir: absolute
final position whén the verb is in a compound tense. Although Kayne never stated that
[T] could appear in absolute final position after a compound verb in SF, the results here
would seem to place some restrictions on his, pcfhaps too gcﬁcral,‘rulc that [T] may
occupy the same position;.s as an 'adycrbiﬂ". It is clear that the rule is too general for -
other reasons, as well. It fnust be noted that the transitivit}r of the verb may play an

1mportant role in mﬂucncmg subjccts usage of R-'L‘ous, as R-Tous seems to be far more

natural, cspccxally for Posmon B (for all three sulucct groups), When thc s%ntcncc cop- 2

plural. Supposedly, the context would clarify any Dig! .z that may bp crcated “I‘hemg o
frequency and the difficulties in the processing of ig IS stx‘qcturés xs ﬁno;hei' arca ;f*
that needs furthcr investigation. This amblgmty\cogg " cur m SF as L-Tous is not ?
allowed with full objcct NPs. ’3 4,'\{' v? : *‘“ g 1

Semantics cannot be ignored either when tcsung :&x ofa partxcuf‘.u‘ structure.‘,
with filler (c), which for most subjects had no me » t{vas apparcnt that they dxd not
all judge thc sentence stnctly on the position of ['%’ h that i is what they were ;
supposcd to do). It would be mtcrcstmg to know h arucula.r scntchc -was uséd

as an example in Daoust-Blaxs and Lemieux-Nié; ‘ I
3 Bpm SFand c1= Speakers v

. v . ,”‘»

& ..

& ™) cally if appcars mcompnchensnblc This was gen ]

g .



Itis also clear that for all three subject groups when R-Tous occurs m ;\ sentence, the 5'7
further removed the quantifier is frc;m its normal position, the less natural it becomes.
This indicates that all movcm;znts of [T] to the right are not equally acceptable. Sorne are
more favorable than others. Neither Kayne nor Daoust-Bléis and Lemieux-Niéger | |
account f01; this stea;l;;c‘lecﬁne in naturaincss. The impliéations are that the various con-

. structions are equally"lcceptable, yvﬁich is not the case, as this #tudy demonstrates.
As fqr\L-Tous whc;l related to a full object NP, this study shows that this is ngt

~ possible in SF, thus offering empirical evidence to support Kayne and others. Italso
shows that the French are not moving towards an acceptance of L-Tous for fﬁll object
NPs either, although Daoust-Blais and Lemieux-Niéger have suggested that“ihis sfructurc »!
is at least possible in popular speech.13 The findings in thisStudy clearly in;licatc that
this is another area where thgfrcnc'{h and Canadiahs Qiffcr. .L-_iI‘o'us'relaltqﬂto the dkgct

~ object, at the moment, is slightly more natural for Eastern French Canadians than for »
~ those from the West, but western francophones are defin;tcly moving in that dircctioh. It"“‘
must be noted that speakers are still quitedivided as to ‘how they view the naturalncss of
_this position, since th.cir answers raﬁged from 1 to.S. Those who rakacd it as a 1 may
Have been influenced by SF and thus chose a more "grammatically" correct response.
Nonetheless, t{xis implies that this structure is in a Period of u'ansi;ibn and will probably
eventually become as natural as i’osition B when related to the subject NP. "

This study then supports L-’f;.us as described in Daoust-Bijais and Lcmicux-Niégcr's
grammar, but only when [T] is related to the direct object.” It does not subport the claims

‘made for L-Tous related to the indirect object. They make no distinctibns between the

13Daoust-Blais and Lemieux-Niéger use the following example of L-Tous in their grammar.

e.g. *1l a tous mangé lesgateaux.
They then state, "Les exemples du frangais standard que nous citerons dans ce texte sont ceux ,
communément admis par Kayne, Pollock (1978) et Quicoli (1977); ils font référence 2 un niveas fomwl\‘
N existe en effet de nombreuses divergences en ¢e qui concerne la langue parlée en France, et le .
comportement de tous en frangais du Québec est peut-dtre moins marginal qu'il le parait A premiére vue.”
This implies that L-Tous is occurring in popular speech in France, but such are clearly not the findings in
this study. - ' v \ : ‘ ‘



~ trend tov\(ard thi$ position by males, females do not appear to find this structu

two types of object NPs to which [T] is related, and yet the'subjects in misfemeent

found Pos:uon B u‘rléen [’1'1 was related to the 1nd1rect object extremely unnatural

'Daoust-Blars and Lemxeux-Nnéger also clarm that it is possxble in Posmon B but not in

Position E thh compound verbs, and yet there was po dxfferencc between the two

J positions for either Canadian group Thus, their grammar does not seem to describe

accurately a structure that is bemg used today by nauve French Canadxan speakers j ‘

" The ﬁllers (d) and (e) refute their cla1m that Position E is possxble with sunple tense

verbs, as. these tokens were also ranked quite low. Althoughghere is a shght :jeasmg
tural.

- L ) B . L
. . \ . ~
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Although statxstmally the French drffcr from the French Canaalans on certain pomts
the areas that are really i rmportant are the ones where there is a major dxscrepancy be-
tween the means of the two groups that is their scores would fall i intoa completely
drfferent level on the naturalness scale. From this point of view then there are only two

areas where the French and the French Canadians differ.

/(1) Position C for $yntact1c Group I, that is [T] related to the subject and after a past:

1

ter an mtransmve verb. It is the French who

. A

. parncxple but riot in absolute final positon

find this position more natural than the French Canadxans

(2) Posmon B for Syntactic Group I here [T] is related to the direct object and has

- been moved leftward between the auxxhafy verb and the past parnclple In this case, it is
the French Canadians who find this msizion more natural than the Frenc{h..

- For the fillers, there appear to be twg areas where the French and the French

, Canadians séem to differ drastically. / ' . -

(D) For token (b) where [T] was pla[ced after a simple tense transmve v\erb The
French found this structure much mofe natural than the French Canadrans
| (2) L-Tous when selated to the dxrect object with a compound verb plus an infinitive,
as in toxc,n (h) which is consxstent with the ﬁndmgs for Syntactic Group II. Thus, the
. Frenchy_Canadlans ﬁnd this structure more natural than the French.,
. These are the only areas where the French and the French Canadians seem to differ

serxously As for those areas where Kayne and Daoust-Blals and Lemxeux-Nléger S

’ stuches seem to dxffer from the ﬁndmgs m«tlus expenment, n‘%an be statcd that:

( I! ’ 'J : ,' . . v ' .
o . . ‘x i ¢ . -
A . . .
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(1) Kayne's statement that [T] may actas‘an "advcrbxal" seems too general and fails’

Y

to account for‘thc fact that TT) in absolute fmal position after a compound, verb 15 not a
. . ) _ R
natural position for native speakc(s of French.

(2) Kayne also does not account for the fact that the transitivity of the verb seems to

60

;ﬂay an unportant role in R-Tous. ‘ A .

s
o )

(3) As for CF, [T] after a compound verb, but not in absolute final position is not
 considered to be very natural. : . ‘ .
(4) L-Tous may occur with direct objects, but is not natural with indirect ob'jccts.'
There are still many areas cc;nceming the nro%grnent of [T] that remain to be'elaborased
through furihgr investigation. I.:-Tous‘ of [T] related to the indirect obj?ct' with sinrple
tense ve‘rbs is such an aren In fact, more research should be done using simple tense

e
verbs in general. A study companng the smgular and plural forrns for the syntactrc areas

o .

alrcady cxammed and the gender factor should be explored more fully. An investigation _

of amblguxty in CF would be interesting, as wcll as [T] related o pronouns and not just .

ful) NPs. Finally, the movcrnént of [T] from one clause to another is an opea-area of”

. .

research. T o

T )
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APPENDIX A
QUESTIONNAIRE TEST 1

NOM: ' ' AGE:
EDUCATION:

NATIONALIFE: _
REGION OU PROVINCE:

. \ . o
Dans les phrases suivantes, vous trouverez un [T] qui représente une forme du mot tout -
(tout, toute, tous, toutes) et qui se rattache au nom souligné. Lisez chaque phrase
soigneusement et décidez si le mot fout s'y trouve dans une position que vous considérez

naturelle. C'est-2-dire, est-ce qué vous l'employez normalement dans cette position ou
est-ce une structure qui ne vous semble pas naturelle; vous ne le diriez jamais comme ¢a?

Utilisez les classifications suivantes pour faire vos jugements:

5 = la position la plus naturelle; vous le diriez normalement comme ¢a
4 = commun, mais pas aussi naturel que 5 ' .

3 = pas capable de décider; on 'entend parfois

2 = pas trés naturel; rarement entendu

1 = pas du tout naturel; jamais ¢mployé

* phrase séparément et ne la comparez pas avec les autres.

Mettez un cercle autour du numéro qui correspond 2 votre jugement. Jugez chaque .

. ,:5!
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. E [
P
v

‘STIMULI SET ~ *

1. [T] Jes gargons sont partis 2 ‘lawgucn'c.
- 1 2 3 4 5
2. Les voisins viendront [T] ee soir.
1 2 3 4 5
3. Ses amies sont arrivées [T].
A : . 1 2 3 4 5
4 mnfamont['l'] mangé des bananes.
. 1 2 3 4 s
5. 1 a [T] acheté ses meubles 2 crédit.
1 2 3 45
6. Les étudiantes ont bu [T] du lait.
| 1 2 3 4 s
7. llasouri a [T] les petites filles. - 3 : S
| 1. 2 3° 4 5 R
8. LExgarcons sont [T] partis gla guerre.
| 1 2 3 4 5
9. Les spectafeufs ont-regardé [T] le film. R
y 1o2- '3 4 s
10, Cest[T] c?l;%:tﬂé les lidvres.
SRS 1.2 Ty g

11 Les femmesons lu [T}, .

® ‘ S g e ﬁ; .
i T] chezmoi; <« - -
. R L

=

.12, Mswﬁ%nusﬂ']

o - 3 . Ty e
. . e FOETES



e

24,

13.

14,

15.

16.

17

18.
19.
20.
21.
22

23.

25.

Elle a [T] réfléchi 2 son affaire.

n 1 2 3
[T] les enfants ont mangé dc.s bananes.
| e L2003
Smg_um. sont sdrties [T]. .
1 2 3
Yai parlé de [T] ga. - o
e 1 2 3.

. Les jeunes géns ont [T] dansé le rock.

‘1 2 3

J'ai songé [T] A mes amis.

1 2 3
[T Jes €tudiantes ont bu du lait.
1 2 3
" Les femmes ont lu [T] ces livres. |
_ 1 2. 3
Ma mére a [T] peint ]a_maison.
1 - 2 3
Le café renverse [T].
1 2 3
m sgs_mm sont sorties hier soir.

1 2 3

Ses amies sont [T] arrivées & huit heures.

. 1 2 3
Yai parlé [T] de ca.

65



26.
27,
28,
29,
30.
)
32,
33,
34,
3s.
36.
37.

38.

I1 a acheté [T] ses meubles A crédit.

66

1 2 3 a4 s
11 a [T] souri aux'pg_ﬁm_ﬁ]m. _
12 3 4 s
Mcsjmissont venus [T] :
) 1 2 3 4 s
Je pense [T] 2 mon affaire. - |
L 12 3 4 s
L:s_&mm;s ont [T] lu ces h:vre“s. |
E 1 2 3 4 s
Lc clhien a[T] ‘mangé les tartes. |
- ¥ ‘2 3 4 5
J'a‘i‘songéA[T'] mes amjs. e |
o 1 2 3 4 5
Les jeunes gens ont dansé [T] le fock. "‘» S o
12 3 a4 s o
Ses amies sont arrivées [T] 2 Hﬁit heures. “:@z’% . 1\. ’
1 2 3 4 5
L&s_ﬁllcs aiment [T] cet acteur. |
12 3 4 5
L&s_émdmnm ont bu [T). i%ﬁg%
-~ o 2 3 4 ’;‘-Zé"@s
[T] mes amis sont venus chez moi. & L
o0 2 3 % s
Elle a réfléchi [T] 2 son affaire. | N
’ - e
1.2 3 4 5 s



‘ 3941&3_gam sont partis [T] 2 la guerre.

40. Les jeuncs gens ont dansé [T].

4]
42

43

44. 1l se souvient [T] de ses petites amies.
2 3

45

46

47

48

.‘lf

1

1

. Jiai [T] songéa mes amis.

K
- h

1

. Ma meére a peint [T) la_mamg_n
T

2 3
2 3

W

2'?,,‘, 3

2 3

1
. Ses seeurs sont [T) sc;nies-hicr Soir.
| 1 2 3
. Les enfants ont mangé [T] des banahes.
e T
. L&mu_dmm ont [T]_bu du l:;it.
‘ 1 2.3 |
. Jai [T] parlé de ca. |
1 2 3

"49. [T] les jeunes gens ont dansé le rock.

50.

51.

' 1 2 3
Ses seeurs sont sorties [T] hier-soir.
’ 1 2 3
Les gargons sont partis [T].
1 2 3

: 2 3
. [T] les femmes ont lu ces livres.

67



52.

53.

54.

5S.

56.

57.

58.

59.

Les garcons qu'elle a [T] connus sont morts.

1 2 3
[T] ses amics sont arrivées 2 huit heures.

1 2 3
Mes amis sont [T] venus chez moi.

1 2 3
Elle a réfléchi a [T] son affaire. 4

1 2 3
Les enfants ont mangé [T]. |

1 2 3
Les spectateurs ont [¥] regardé le film.

. 1 2 3

Le chien a mangé [T) les tartes.

1° 2 3
Il a souri [T] aux m_ﬁl[ﬁ
| | 1 2 3

La maitresse a [T] laissé les enfants sortir.

1 2 3

68



APPENDIX B

EDUCATION FACTOR FOR THE FRENCH

SYNTACTIC GROUP I
# EDUCATION A B C D
38 1. BAC- 4.96 4.56 3.10 1.59
16 2. BAC 4.84 4.56 3.02 sl
50 3. BAC+ 4.92 4.70 275 1.79
# EDUCATION A . B C D
38 1. BAC- 499 4.04 2.47 1.80
16 ° 2. BAC 4.89 405 - 230 1.73

50 3. BAC+ 4.93 432 210 1.76

BAC- = Subjects without a baccalaureat.
BAC = Subjects with a bgccalaureat. :
BAC+ = Subjects with more-than a baccalaureat.

Pos A = [T] to the left of the NP it modifies.

Pos B = [T] between the AUX and the PP. ,
Pos C =[T] after the PP but not in absolute final position,
Pos D = [T] in absolute final position.

\.' ’ : »:"A ’.‘_,



EDUCATION FACTOR FOR THE FRENCH

L -

SYNTACTIC GROUP III
#  EDUCATION A B
38 1. BAC- 4.90 1.62
16 2. BAC 4.84 1.64
50 3.BAC+ 490 1.59
SYNTACTIC GROUP IV
# EDUCATION A B E
38 - 1. BAC- 490 120 1.41
16 2. BAC 492 108 1.28

50 3. BAC+ 4.93 - 1.10 1.18

BAC- = Subjects without a baccalaureat.
BAC = Subjects with a baccalaureat.
BAC+ = Subjects with more than a baccalaureat.

Pos A = [T] to the left of the NP it modifies.
Pos B = [T] between the AUX and the PP,

Pos E = [T] after the PP but before the preposition -

related to the indirect object.

“



'EDUCATION. FACTOR FOR THE FRENCH .

33 1.BAC-| 376
' 2. BAC
'50 3 BAC+

[ S .
' I
q \

’BfAC— = SUbJCC(S without a baccalaureat.

#  EDUCATION 2

£y
FILLERS-
(s 38 1 BAC-
w16 2 BAC
Tt 8 .

*59 3, BAC+

# ° EDUCATION 33

BAC
BAC+ = SubjCCtS with more than a baccalaureat.

e

2.
10.
22,
29.
35.
.4

52,
60.

4.18
4.13 -
4,48

4.

. 4.06
3.70°

= Subjects with a baccalaureat.

Lgmmm viendront ['I'] ce soir.
Clest [T] elle qui-a tué lns_hﬁmg

renverse [T].

10 .

1.05
1.00
1.02

142

1.31
1.08

Je pense [T] a mon affaire.

Les filles aiment [T] cet acteur.

Il se souvient [T] de

ses petites amies. '
L&s_gamg_ns qu'elle a [T) connus sont morts,

2

1.00‘

1.25
1.16

2.05

1.88

1.82

La maxtressc a [T] laissé les enfants sortir.

29

1.66

1.63
1.24

1.13
1.25

124

71

o,
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L ¢ B . li‘" . ! . \
7/~ - EDUCATION FACTOR FOR THE CANADIANS ~
. A - & . : » ‘ U
# EDUCATION A B c D
18 1. HS- 485 428 186 1.22
Y29 2 HS - 475 428 1.94 1.29
62 3 HS+ 4827 440 % 194 . 126
- 4 4 BA. 480 460 192 - 1660
13 50BA+ . 496 - ¢ 439 < 183 156
: | ) : | : . v g
~ '# EDUCATION A f{ c . D
18 1. HS.- 492 . | 367 2.14 1.39
) 29- 2. HS 4.8, & 4.11 . 210 ( 1.56
62 - 3. HS+ = 486 418 7 2.27 158
. 4 4 BA. - 490 39 0 206 161 |
~. 1B S BA+ 498 383 1425 140 -
T -7 i : T B
S * H.S.- =Sub_]ects wnho ahlgh school dxplorna * '
« H.S. =Subjects with a¥igh school diploma. !
oo ~ H.S.+.=Subjects with more than a high school dipt ma
R ' B.A. = Subjects wnh\an undergradyate degree. L
o R - & A+ = Sybjects with more than an undergraduat@ degrec
SR . P,osA=[T]totheleftoftheNP1tmod1ﬁm-* o o ;
2 ~Pos B =[T] between the AUX and the PP, .
a . Pos.C =[T]after the,PP but notu;absolut_e‘ﬂnal posmon ¢
€ 7 Pos D. -[T]xﬁabsolute final posmon A e
v R { % .
L8 L gE : ‘
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I SRR

EDUCATION FACTOR FOR THE CANADIANS

'

) |
# EDUCATION A B i
‘ 1. H.S.- 4.61 ' 3. » ey ‘
;8_ S ; 6, 3&%5 :’ . ’y '-‘:‘ﬁ: y - e
29 2. HS. 4.67 - 313 . et Mgpees B e
B OBES e i A el
62, 3, HS+ .. 479 $3.25 IR p

. 4. ’)4 B.A. 4.79 292 S ' f ,
13. 5 BA+ 490 . 227 = |

#  EDUCATION A B E
o : b o ’
" .18 ‘.,.1,’\H~s.;_,;,¢* 474 1.79 s w38 i

@ 3 HS+ . 466 134 143

/42’ 4. BA. "4.58 143 144
48 na0 15 .

. B R SRY N LY . . e "@% R i . . '- ¥ . -
o e g 459 - gy 158 Yoo 7 g

' ,‘ '. N ‘ . f' , - . "‘" ‘,,‘ \. | . . »
b " H.S.- = Subj ects\wuhoutahxgh school diploma. - " r
. = HS» = Subjgcts with a high school diploma. - TR
H.S.+ = Subjects with more than a high schookdxploma x_- o *
B.A. = Subjects with an undergradudte degree.’ ST «5"
B.A.+ .= B »:

Subjectg with more than an undorgraduatc dcgrcc

Pos'A, = [T] ¥ the Iefi of the NPt mod:ﬁu
Pos B = [T] between the AUX and’ PP. -y
- T fPosE —[T]aftertthPbutbeforeth‘ DA
w PR relatedtotheinduectob;ect. LT




' EDUCATION FACTOR FOR THE CANADIANS

EDUCATION 2 10 2 29
LHS- 31 11 . 178
2. HS. " 350 145 - 1.86
3. HS+ 394° 165 174
42 .4 BA 3.‘9.1»' 14 - 133 ]
s, 'BQ.A,+_“ 423 123 L5 177
o - R . S
EDUCATION ‘35 = ' 44 2 60
. K - R L T | L
L HS- 257" 183 T 156 223"
2 HS. 328 2107 2310 245
3 HS+ 324 c 181 197 242
4. B.A. 274 136 160 183
5. BA+ 2,31’0 123 154 162

v * v
H. _S - = Suéjects thho a thh school diploma.
H.S. = Subjects with a high school diploma.
H.S.+ = Subjects with more than a high school diploma.
B.A.
B.A.

M= Subjects with an undergraduate degree.
+ = Subjects w1th more than an undergraduate degree

* 2: Les voisins v1endront [T] ce soir»* o
10. C'est[T] elle quxatuél;s_hﬁms . N\
22. Lecafé rénverse [T). - , et
29.. Je pense [T] 2 mon affaire. ' . -

k 3s. I.&s_ﬁuﬁaunent [T] cet pcteu:ga

44. 11 se souvientT] de 1 R
52. Les garcons qu'elle a iﬂ connus sont morts. . e .
60. La maitresse a [T] laissé les-enfants sortu' : '}F" ‘



'APPENDIX C o
AGE FACTOR FOR THE FRENCH
| .
SYNTACTIC GROUP | - .
’ # AGE = A B C D
4oL - s - as0 | 3 1.70.
.24 23125 . 490 476 274484 156
11 3.2630 - ~ 498 46l 'Z;’z 70 . 152+
* ' !‘ bR RS ’\ “;‘1 - . - . 3 . '. o
PN . 480 481 274 1.79
494 446 323 1.5\
9. 483 444 © 264 . 167 °
15 /1, 50+ 497 457 333+ 197 |
r ,"q»‘k, T - . : &g
\- SYNTACTIC GROUPI| S x | ‘
# Al B c p ¢
14 1 028 , 4.98 3.96 . 271 1.84
~ , e . - » ' ) < ‘
24 2 225 ¢ 495 432 1.96 k 152
{ - - K2 ‘ . ' » A . N . X . ]
11 3. 26-30 493 . 41l . 214 - 159
R : 4 i .
T 18 4 35 4.89 443 222 1.89
13 53640 - 500 \, 402, . 242 - .85
% 9 ca®P t a3 an 233 197
15 750+ 5.00 405 230 1.92
4 Pos A —[T]sotheleftoftheNPltmodlﬁes
o Pos B = [T] between the A d the PP.
Pos-C = [T] after the PP but not in absolute final posmBn
- Pos D =[T]in absolute ﬁnal position.” :
n : .
- 75
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4

v AGE FACTOR FOR THE FRENCH

# AGE
14 1. 020
24 2. 21.25

| ." CF 3. 2630

gt

% 18 r} 31-35
e “'b‘ o :’;;- o “ -
.‘. ,:1’3‘ b : ¥ :

PaRY

9 6 Moy
. ) .“ v
153350+

L AGE

1. 0-20
2. 21-25
3. 26-30
18- - '-4.'31"-35?' ‘*

14

»

24
' ]
. '1 1 .

T .13~ 5. 36-40

9 6. 4149

15 ‘ﬂ‘50+«
Z\' . , |
N Pos A =
-PosB .=

492
» ’ 'f

X ¥ “',' 1.57

. -‘ A S .

. .
W ’ ;
- h
+

A

pr D

4.93
4.89 . )
486

490
4.79

B
1.93'

1.45

1,54
167
01.89

e

B

\

A

4.8\

496"

498
"4.92
‘4.87
4.89

1.25
104

123
118

112
' 1.06
4.95 ‘113

- 1.39

229

to the left of the NP it modifies.

T] between the AUX and the PP.

- \'a;
¢

’,

Pos E = [T] after the PP but before the preposition .

related to the indirect object.

R
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18 1.00 1.28
13 | 115 1.00
9 S 100 1.22
s Y100 1.00

4 . AGE 35*‘ “ 2

14 1. 020 - - '3,64-?-.95‘ 171 221

: vs 2 L&s_mmnsvmndront['rjcesou.

10. Clest [T] elle qui a tué les lidvres.
< 22, Le café renverse [T].
o 29 Jepcnse[T] a'mon affaire. -
. 5. Les filles aiment [T] cet acteur. v
44 I scsouvxcnt['l‘]desg_s_mmc_s_amigs o
L:s_gam_qns u'elle a [T] connus sont morts.

60 La maitresse a [T] lalssé lﬁ_gnfams SORHr.

UV
Y [ Lot

24 . 2. 2125 » 388 » 129, © 18

11 3 26-30 391 1.00 1.64

18 . 4,31 35 378 122233

1‘3'}" s, 3&40.- - . 400 ‘108 1 69L

9 6. 41-49 "“f’ 333 . 133
s "7‘@,504, S '3;7‘3 '.~1.'13‘:; 200

1.57
138
1.91
139'
1:00
1.33
1.67

1.2
1,25
L8
1.06
. 1.08 ’
22
. -'i.oo"}
\"4

77
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AGE FACTOR FOR.THE CANADIANS K \
: } o v;‘{'_t "2 , », ,
WV, : R -y
P A % A B cr D

14 © i 0720 475 430 173 134
' 454 198 . 139
26 3.2630 420 . 170 . 109
14 4 3135 X 407 L6 1.13
15 5. 3640 492 ¥ 4s 230 138
)10 6 414N 7 483 438 ¢ 1,63 + 128
.37 750+ - 489 .4.52}‘.; 201 137

'y

48 2. 21-25

v #  AGE B B . C . D

14 1020 4708 371 ° #9200 b5T

) - R "rf [N ( .

48 22125 . 484 . 422 2.31 1.67

i ~r . : *
26, 32630 48?38 1.68 128
Y S | -

T 14, 43135 v 495 - 3.82 18§ 1734

15 53640 | 497.. 415 228 . 148

10 6 41:49 - 495 -\ 188 > 183 178
_ : ot o L. o R

37° 7. 50+ 493 a1 226 148,07

[T] to the left of'tthPi odifies. | &~
[T] between the AUX and the PP. : :

[T] after the PP.but ndt in absolute ﬁna{ position.
{T}in absolute final position. ? . ;

B

4 PosA
" . PosB
Pos C

Pos D

[ I!.
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' AGE FACTOR FOR THE CANADIANS '

o ﬂ/
A B
4,54 o2 71"

. 467 | 3 37&: :
. . 487 . . %‘AB f6 Qy . g -\ ‘“., :

473 309 S .
438 283 B
475 - 265 ’

485 300 - w

A B E
' AV 020 . 464 16 152 o
48 24125 455 186 153 s
26 32630 4\72 BT T S
4 43135 0 as 1.32\ 1.59
15 5 3640 4.65 127 N 142
' 10 6. 4145 460 13 110 |
377 50+ o 480. 155 147 o
PosA =[Mto the left of the NP it modifies. ; ’

os B =[T] between the AUX and the PP.
= [T] afteg the P but before the preposition
relat to he in rect obJect - : K
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- AGE FACTOR FOR THE CANADIANS

1020
2125

26-30
31-35
36-40
4149

1 0-20
2. 2128
37630
4. 3135

5. 36-40

6. 41-49 -
7."-50+

2.
10..

50+

27 10

4.07 1.29

402 173

©3.50 1.39

-¥3.14 157

4.13 133

3.90 1.20

4.11 168

| 35‘ 4

e 321 1.71

321 *1.:1_1 |

. 243 1.39

2.29 214

3.73 1.73

2.70 1.50

C 297 - 1.84"
Ix,smms viendronf{T] ce soxr
C'est [T] elle qui a tué Jes livres.

- 22. Le.café renverse [T].
29 Je pense [T] 2 mon affaire.

52.

5. Les filles aiment [T] cet acteur.
44 Il se souvient [T] de ses |

qu'elle a [T]

L}

22

1.29
171
1.65
1.43
1.93

1.20

1.65

2.07

2.13

1.54
1.86

1.53

'1.40

1.89

connu% sont morts.

,60. La maitresse a [T] laxssé les enfants sortir.

\

80,



APPENDIX D

REGION FACTOR FOR'THE FRENCH

4 REGION A
19 L Paris 4.7
6 2 Bretagne 5.00
14 .= 3z Misc. 4.96
5 4 Ch;r&tés 4.95

"1 5. Anjou 4.93
l‘l 6. Nord 4.91
38

7.' Bordcaux/ 4.92

SYNTACTIC GRQUP II

19

14

11

11
38

A A R I

1. Pais® 491

Bgetagne 5,00
Misc. 5.00
_Charentes  5.00

‘Nord 4.89
Bordeaux - - 4.95

¢

Anjou ¢ 4.93°

4.72
4.21
4.70

470
4.45

4.66
4.64

4.20

375

414’
425 .

4.20

2.83
258 .
2.52
- 2.35
2.80

Tk

e 337

3.18

Pos A =[T] to the left of the NPit modifies.
Pos B = [T] betweenthe AUX and the PP.

Pos C = [T] after the PP but not in absolute final posmon
PosD = [’I'] in absolute final posmon

W

1.64

171«

175

171

1.88

190
1.64"
184

i83"

159

1.40

1.39

1.98

1.88

i &
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REGION FACTOR FOR THE FRENCH
#.  REGION A B
¥
19 Prais 0 478 - 1.92
-6 2. Bretagne 4.96 ‘ 1.7t )
14 3. Misc.  4.96 1.41
S = 4. Charentes 4.80
s i ) . ) ' . ] .
11 5. Anjou %;189 o
B ~ & 1 @ &
11 6. Nord - 491
v i (Sl P SR
38 7. Bordeaux  4.95 P DT
SYNTACTIC GROUP IV | ” , .
#  REGION A B E oy
¢ 19 1. Paris 495 - 122 © 117
6 2 Bretigne  4.96 108 - 129
14 3. Migc 500 113 1.18 *
~ 5 4 Charentes’ 4.75 1.0 1.00 o L
By s A am 107 127 e
11¢ 6.:Nod - 495 * 105 '° 125 o
38 %7, Bordeaux 490 Ly 1.41
, Pos A =[T]to the left of the NP it modifies. .
° . Pos B = [T] between the AUX and the PP.

ZPos E =[T] after the PP but before the preposition .
' ‘ related to the indirect object. , J



“REGION FACTOR FOR THE FRENCH

;D

#  REGION 2 10 2 2 T
19. 1. Paris 7432 1.00 1.00 1.58 *

6 2 Bretagné¢ 433 100 . 100 ¢ -1.83 T
14 3 Misc. 429 1.07 129 12|
5 4 Chareples - 4.80 .00 100 100 '
11 5. Anjéu 446 100 1.00 1.18
11 6. Nord- 7 436 f 100 127 136,
38 7. Bordeaux  4.21 1.05° - 113 158
# . REGION ¥ ou, 2- o«

19 1. Paris 379 o 116+ 247 - 116

: P | o

6 - 2. Bretagne 283 .00 1.67 1.00
4, 3 Mie. 357 107 200 . - 129
S° 4. Charentes _ 3.60 1.00 1.80 1.00
11 5.'A,njou 3.64, ' 1\;05‘ 191‘ : 1,1(.)0

. 11 6. Nord L :1.46 , 1.555 - , .<13 “ﬂ'ﬂg

38 7. '~B0rdeaux‘ 1:-3.87 137 | ~1. 71 :’;_‘ ;

~ 3o HhN ¥

2, I&S.mlsm.‘ivwndront['l']ccsoxr et
10. C'est [T] elle qui a tué Jes lidvres. 4 : =
22. Le café renverse [T]. - v
29. Je pense [T] 2 mon affaire. :
35. Les filles aiment [T] cet actcdr
o g; Ilsceouwcnt['l']dcs[ﬁ_ﬁmnms_amm '
. Les garcons qu'elle a connus sont rts
. 60. La maltresscg [T] laissé lgs_gnfams



APPENDIX E

R

/ ’
. v ’H&& .
'+ GENDER FACTOR FOR FILLERS FOR ALL SUBJECT GROUPS
, L I {. . .
FILLERS ,
-+ Subject Group 2 , 10 2 29
Ko F/M F/M FIM - F/M
}*ﬂ s . e » .
’ ' ) C :
1. French = 435441  1.00/1.04 ' 109/1.11  1.44/1.50
“ 2 Eastern Canada 3.903.9%  1.62/1.89 1.56/1.96  156/1.82
3. Westem Canada™  3.873:86° 1441127  1.55/1.59 67“1 82
' Subjct Group '3 44 2 80
‘ F/IM ™ F/M .F/IM.. F/M
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C e, | \2 L&mmnsvxcndront [T] ce soir.
° - 10. Cest{T] elle qui a tué Jes lidvres.
%2 L renverse [T]. .
9. Je pense [T] 2 mon affaire.
3S. I.m_ﬁngsmmmt['l‘] cet acteur.
44, D se souvient [T] de
_52 qu'elle a [T] connus sont morts.
o ;amamessc a gl laxs SOrtir. |
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